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ITOACHUTEITBbHAA 3AIIICKA

I[IpemnaraeMslil IPaKTUKYM II0 YHOTPeOIEHUIO U IEPEBOAY HeINd-
HBIX (OPM AHITIMIICKOTO T/Iaroia (Bepbamuit) HmpegHa3HAYAETCS IS
CTYIEHTOB TPETbero Kypca, 00yJaroxcs 0 CllelaIbHOCTAM «JInHTr-
BICTHKa», «IlepeBof 1 mepeBofioBefieHMe», «/IHOCTpaHHBI A3BIK». OH
COCTaBJIeH B COOTBETCTBUM C IIPOIPAMMHBIMI TPeOOBAHIUAMY 110 Kyp-
caM IIPaKTUYECKOI TPaMMaTUKI aHI/INIICKOTO A3bIKa I IIepeBOJia.

[Toco6me nmeeT MPAaKTUIECKYIO HAIIPABIEHHOCTD, €T0 Iie/b — II0-
MOYb CTYJ€HTaM OBJIa/IeTh IPAMMATN4IeCKMMMU U JIEKCMIECKMMMU TPY/-
HOCTAIMY, C KOTOPBIMM 4Yallle BCETO MPUXOAUTCA CTAJKMBATbCA NMpU
nepeBoje HeMMYHBIX POPM aHIIMIICKOTO Iyarona (MHGUHUTUB, IPU-
JacTue U TepYH/MIT) B AaHIINIICKUX XYA0>KeCTBEHHBIX 1 00I[eCTBEHHO-
IMOJIUTUYECKMUX TEKCTaX.

IIpakTHKyM IOCTpO€H Ha OCHOBE NMPMHIUIIOB IPOrpaMMUPOBaH-
HOTO 00y4eHMs.

Buauane maercst HeoOxopyuMass MHGOPMAIUs O pacCMaTPUBaeMON
rpaMmarn4eckoit Gpopme 1 0COOEHHOCTSIX ee IepeBofia C AaHITIUIICKOTO
A3bIKA HA PYCCKMIL, COOOIIAIOTCS 3HAHVSI O TPYAHOCTSX IlepeBofa He-
JMYHBIX (GOPM ITIarona 1 crnocobax ux mpeoponenus. JJanee crnegymoT
yIpa)KHeH)s, HallpaB/ieHHble Ha BBIPAOOTKY YMEHMsI BBIIETUTb U3
TeKCTa MpeIOKEeHN A 3alaHHYI0 TPYSHOCTD U MCIOIb30BaTh M3BECT-
Hble IIpUeMBI IIEpeBOfA.

PacrnionoxxeHne Matepuaia B 1ocoOmy He 0OsI3bIBa€T K OIpe/ieeH-
HOJI [TOC/IEOBATEIbHOCTY PaOOTHI HAJl HIM.

BaxHO€e MecTO B CTPYKType MPaKTUKyMa 3aHMMAIOT YIIpaKHEHNA.
IIpakTKyM BK/IIOYaeT, BO-NEPBBIX, YIPa)KHEHN, HallpaBlIeHHbIE Ha
CO3HAaTe/IbHOE BOCHPUATIE PAaMMaTIYe€CKOTO MaTepuaa, BO-BTOPbIX,
YIpa)KHEHN:I, HallpaB/lIeHHbIe Ha aKTVMBU3ALMIO MI3y9aeMOr0 MaTepH-
ama. MarepmanoM mjid yOpa>KHEHMII CIy>KaT NPeIoKEHNA U TeKCTHI,
B3ATbI€ 13 COBPEMEHHOJ aHITIMICKON ¥ aMEPUKAHCKOM XY/IOXKECTBEH-
HOJI MUTepaTyphl U IEPUOTVIKIA.

IIpencTaBneHHble MaTepuasbl MOXKHO MCIIONIb30BATh HA ayAUTOP-
HBIX 3aHATUAX IO MPAKTUYECKON IpaMMaTKe aHIIMIICKOTO sI3bIKa U
MpaKTHUKe TePeBOfia, a TAK)Ke /I CAMOCTOSTENbHOI paboThl HaZL He-
AMYHBIMK (pOpMaMu aHIIMIICKOTO T1arona. B koHIe moco6ms npua-
raeTCsl CBOMHBIN TeCT Ha BCe CTyYall YIOTpeO/IeHNs HeTMYHBIX GOopM
AHT/IUICKOTO T71aroa.



GENERAL FEATURES OF NON-FINITE
FORMS OF THE ENGLISH VERB

There are three non-finite forms of the verb (verbals) in English:
the infinitive, the gerund and the participle. They comprise nominal
and verbal features. The Infinitive and the Gerund combine the
characteristics of verb with those of noun; the Participle combines the
features of verb and adjective.

The tense distinctions of the verbals are not absolute (like those
of the finite verb), but relative. The form of the verbal doesn’t
show whether the action it denotes refers to the present, past or
future; it shows only whether the action expressed by the verbal is
simultaneous with or prior to the action expressed by the finite form
of the verb.

All the verbals can form predicative constructions. Predicative
constructions consist of two elements: nominal (noun or pronoun)
and verbal (participle, infinitive or gerund). The verbal element
stands in predicate relation to the nominal part, i.e. the relation
similar to that between the subject and the predicate in the
sentence.

Katherine being fatigued, they returned more slowly home.
Tax xax Kampun 6vina ymomsneHa, OHV MeIJIEHHO BEPHYIINCDH
JTIOMOIA.

Katherine being fatigued is a predicative construction with Participle
I. The participle being fatigued stands in predicate relation to the proper
noun Katherine, which denotes the doer of the action expressed by the
participle.

In sentences a verbal may function:

- as a single word

To decide is to act.
Pewuums — 3HAYUT HAYATh [EIICTBOBATD.

- in phrases, i.e. with one or several accompanying words (an object
or adverbial modifier to the verbal)

She tried to tranquillize him by reading aloud.
OHa IBITaIach YCIIOKOUTD €T0 TeM, YTO YUTa/a eMY BCITYX.

- in predicative constructions

There is no mistake about his being a genius.
He MoxeT 6bITb HUKAKOTO COMHEHMS B TOM, YTO OH — TeHUIA.

All verbals have forms of the Active and Passive Voice.

THE INFINITIVE AND INFINITIVE
CONSTRUCTIONS

The Infinitive developed from the verbal noun, which in the course of
time became verbalized, retaining at the same time some of its nominal
features (functions in the sentence, combinability with an adverb, the
infinitive of transitive verbs can take a direct object).

The infinitive is a plain verb stem which is usually preceded by the
unstressed particle fo. In Modern English it has the following forms.

Active Passive
Simple to discuss to be discussed
Continuous to be discussing -
Perfect to have discussed to have been discussed
Perfe-ct to have been discussing -
Continuous

The Simple Infinitive expresses an action simultaneous with the
action of the verb-predicate.

He raised his hand to attract the students’ attention.

The Continuous Infinitive expresses an action simultaneous with
the verb-predicate, but it is an action in progress.

I was not pleased to be working such long hours.

The Perfect Infinitive denotes an action prior to the action of the
verb-predicate.

Our head engineer was known fo have made an important
discovery.



The Perfect Continuous Infinitive expresses an action which
lasted a certain time before the action of the verb-predicate.

Her cousin was believed to have been living in Sweden since the
end of World War II.

In technical texts the split infinitive is widely used (to clearly
understand, to fully realize, etc).

The Passive Forms of the Infinitive
Study the chart and translate the sentences into Russian

Active Infinitive Passive Infinitive
He doesn’'t want to disturb you. He doesn’t want fo be disturbed.
I am glad to give you advice. I am glad to be given advice.
Id like you to understand me. I'd like my idea to be understood.
They had to do the work in time. | The work had to be done in time.
She was to meet him at the station. | He was to be met at the station.

NOTE: In sentences with the construction there is the Infinitive
of some verbs can be active or passive without any change in the
meaning:

There’s no time to lose (to be lost).

Task 1. Choose the correct form of the infinitive in brackets and
fill up the blanks. Translate the sentences into Russian.

1. I expect them a telegram to me. / The telegram is
immediately {send, be sent).
2. Some people like to themselves. / I don’t want you )

early (leave, be left).

3. They expectyou_____all the lectures. / They expect all the lectures
__regularly (attend, be attended).

4. We hadn’t reached the most northern part of the country yet, but
cold began ___ already. / We began _____ the discomforts of the night
train very soon (feel, be felt).
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5.Shewants ___ ./ Shewants ____ it (understand, be understood).

6. We were afraid ____ what was troubling him. / She was afraid
____ this question (ask, be asked).

7.Jamsorry ___ youbut may I ask you a question? / He was too weak
__ (trouble, be troubled).

8. We expected the meeting __ next Monday. / We expected the
speaker ____the attention of the audience (hold, be held).

9. He was glad the subject. / He didn’t want anything in
his room (change, be changed).

10. Some changeshad __ ./ Hewanted ____ some changes in the
plan (make, be made).

11. Thisisonly ___ ./ Idont know what ____ of him (expect, be
expected).

Task 2. Translate the following sentences into English, using
either Active or Passive Infinitive.

1. OH He MOOUT IPUB/IEKATb BHUMAHUE.

2. Bcem xoTenoch, 4T0651 KOHGEPEHLMs COCTOsIach B eBparte.

3. MBI 6bUIM pafibl, 4TO [0 AEePeBHM JOOPAIICh 3aCBETIO.

4. Ml He OXXMJA/N, YTO peleHre OyfieT IPUHATO TaK OBICTPO.

5. OH paj, 4TO eMy IIOMOTAI0T B paboTe.

6. Pe6eHOK ObUI C/IMIIKOM Majl, YTOOBI OCTABJIATb €ro goma 0es
HPUCMOTpa.

7. EMy 110Be3J10, 4TO €T0 CIIPOCH/IN NTePBBIM.

8. Iletu 6B JOBOLHBI, YTO UM [Ia/iyi OMIETHI.

9. Y MeHA ecTb Ipy3bs, KOTOPbIEe MOTYT IIOMOYb MHE.

10. BoT cTaThs, KOTOPYIO BbI JO/DKHBI IPOYUTATh.

11. Y Hee ecTh pebEHOK, O KOTOPOM €71 Ha/j0 3a00TUTHCSL.

12.Y MeH: XopolIas HOBOCTb, KOTOPYIO A JOJDKEH BaM paccKasarh.

Task 3. Paraphrase the following sentences using the Passive In-
finitive and translate them into Russian.

Model: The house that will be built here will be a school.
The house to be built here will be a school.

1. The questions that will be discussed at the meeting are important

for our work. 2. The people that will be invited to the conference must
all take an active part in its work. 3. The work that must be finished
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today is very important. 4. There was much that could be said on the
subject. 5. The railway that will be built there will join the two industrial
centres. 6. He has lived in this town a long time and knows all the
interesting and beautiful places that can be found here. 7. This was for
him a chance that couldn’t be missed.

Task 4. Use the right form of the Infinitive.

1. Detective Morrison knocked on the door of Mrs. White’s house.
When she opened the door he said, “I'm sorry (disturb) you but I have
to ask you several questions.” In two hours the detective left the house
saying, “I'm sorry (disturb) you”

2. Sarah pretended (enjoy) herself although she felt like crying.

3. We didn’t expect (treat) like royalty.

4. They were fortunate (rescue) from the fire before the building
collapsed.

5. Small children are eager (ask) questions and they always demand
(answer).

6. The little boy was proud (skate) for so long without falling down.

7. When walking around Rome, he felt extremely excited (walk) the
streets of the city he had read so much about.

8. Ann was doubtful that she would be admitted to university, so she
was delighted (award) a place.

9. Even though she was much younger than the other children, Alice
demanded (include) in the game they were playing.

10. He turned up at last two hours later saying: “I'm sorry (keep) you
waiting for so long”

11. John claims (write) letters of application for a year already but
(receive) no reply.

12. Tom was so glad (dance) with Alice at last that he couldn’t help
smiling happily.

13. T hate people who talk about you behind your back and then
pretend (be) nice to you when they meet you.

14. He claims (see) the President, but I don’t believe him.

15. Our football team is proud (win) every match this year.

16. None of you may want (tell) blunt truth.

17. Your proposal deserves (consider) seriously.

1. The forms and functions of the Infinitive

The Infinitive can be used in different syntactic functions. A single
infinitive occurs but seldom: in most cases we find an infinitive phrase,
i.e. an Infinitive with one or several accompanying words.

1. Subject: It was foolish to conceal the truth from her. To conceal the
truth from her was foolish.

2. Predicative: What I'm asking for is to leave her alone.

3. Part of a compound verbal predicate: The train was to leave at
midnight.

4. Object: 1 decided to accept his offer.

5. Attribute: I have some problems to discuss with you.

6. Adverbial modifier of:

a) purpose: I went out to meet her.

b) result: We'll be too busy fo come here tomorrow. The light wasn’t
strong enough for Torn to see the expression on her face.

c) comparison (manner): Jack turned his head as if to hide his ironic
smile.

d) attendant circumstances: Poirot retired from the Brussels police
force to become the most famous detective.

The Infinitive as a subject.

In this function the Infinitive is translated by Russian infinitive
(neonpenenenHas ¢popMa rmarona) or noun.

To design plans of the new buildings is the work of an architect.
Cocmaensamp NPOEKTHI HOBBIX 3JaHNUIT — PabOTa apXUTEKTOPA.

NOTE: the Infinitive in this function can be used with introductory
it which makes sentences less formal.

Task 1. Use the Infinitive in the sentences as subject without
introductory ‘it.

1. It'll do her a lot of good to lose some pounds in weight.
2. It’s wise of you to have told them everything in detail.
3. It'll be ridiculous to accept his offer.

4. It’s not good to conceal such things from your mother.
5. It’s rather foolish to count on his help.

6. It won't take you much time to find out his address.



Task 2. Paraphrase the sentences using the Infinitive as the Subject
with the introductory ‘it’. Translate the sentences.

1. The repair of the room will take two days. 2. I was amazed to see
him there. 3. There is no necessity to mention that. 4. Any thought of
tomorrow depressed him. 5. The restoration of the church was quite
impossible. 6. The recollection of that incident made everybody laugh.
7. He felt ashamed when he remembered everything. 8. He was very
wise if he avoided such a situation. 9. We were disappointed when we
heard his report. 10. There was no return to the past life.

The Infinitive as a predicative or part of a predicative.

In this function the Infinitive is translated by Russian Infinitive.
Very often the conjunction «4to6b1» is used.

His duty was to observe the operation of this system.
Ero pa6ota 3akmodanach B TOM, 4mo6vl HAO00amb eiiCTBUE
9TOI CUCTEMBI.

Task 1. Translate the phrases in brackets using the Infinitive as
predicative.

1. The main problem is (momoub Tomy He OTEPATH Bepy B cebs).

2. To do it means (paccTpouTb Bce ero IIaHbI).

3. Our next move must be (mpegynpenuTs ux o mpubMOKaromerics
OIACHOCTH).

4. To act like this means (moTepsTh MOCIETHMIT IIAHC).

5. The first thing to do is (cBA3aTbcs ¢ HUM).

6. To ask her a straight question will mean (ockop6urs ee).

7. My idea was (morpe6oBarb monHoe o6bsacHenne) of what they
plan to discuss.

NOTE: In the function of part of a predicative (after the adjectives:
hard, difficult, easy, (im)possible, (un)safe, (un)pleasant, etc.) we always
use the Indefinite Infinitive Active.

They were interesting to talk to.
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Task 2. Paraphrase the sentences according to the model.

It’s easy to follow these instructions. —
These instructions are easy to follow.

1. It is easy to manage her children, they are well-behaved.

2. Though he looked at me with those kind and candid blue eyes of
his, it was disgusting to look at him.

3. It was dangerous to swim round the beacon on account of the
currents.

4. She always complains, it is difficult to please her.

5. It would be impossible to compensate for lack of parental
attention.

6. It is not very easy to get on with Jane.

7. It was always interesting to talk to our professor.

8. It is amusing to observe the behavior of small children.

9. It’s boring to read his recommended history books.

10. He said it had been easy to deceive her.

11. It is extremely hard to accept his medieval opinions on women’s
rights.

12. It’s impossible to have fun with him.

13. It is extremely difficult to diagnose the disease in the early
stages.

14. It is safe to fly the plane, it has just been tested.

15. It was impossible to make friends with David.

Task 3. Translate the sentences using the Infinitive as part of
predicative.

1. OT AypHBIX IPUBBIYEK TPYAHO U30ABUTHCSL.

2. Ero mocTyInKy HEBO3MOKHO IpeCKa3arh.

3. OTUMU MI0AbMY OBIIO TIETKO MAaHUITY/IMPOBATD.

4. C JI>keKoM TPyIHO Ta}UTh, OH BCET/la Y4eM-TO HEJOBOJIEH.
5. Bony He6e301acHO NUTH, Ty4llle ee IPOKNUIIATHUTD.

6. Ccopy ObITIO HEerKko yIafuThb, XOTsI OH OYeHb CTapajICs.
7. Tloppy>KUTbCsi ¢ HUM efjBa OO BO3MOXHO.

8. CnemuTh 3a ero 0O'bACHEHUAMU CITOXKHO.

9. IloHATD ero novyepk MNOYTU HEBO3MOXHO.

10. PaccunThiBaTh Ha HEro OECIONEe3HO.

11



Task 4. Use the required form of the Infinitive in the function of
part of compound verbal predicate. Translate the sentences.

1. He seemed ... all the friendliness he had shown at our previous
meeting (to lose).

2. “T happen ... her lawyer and she telephoned to me,” I said to the
man (to be).

3. It became clear that Charles was still idle. He seemed ... scarcely
any law (o read).

4. The cat seems ... missing for about three weeks (to be).

5. He appeared ... that they had had the first serious difference of
opinion in the whole of their married life (to forget).

6. “Dr Salt, what do you think you're doing?” “People seem ...me that
for days,” said Dr Salt mildly (to ask).

7. Not going home, in fact, seemed lately ... the pattern of his life (to
become).

8. My mother thought that his hobbies would get him nowhere. In
this she turned out ... wrong (to be).

9. It seemed ... in the room. The floor, the chairs, the desk were
covered in drifts of white. It was torn paper (fo snow).

10. She leant far over the banister and strained her ears. All the
family seemed ... at once (to talk).

11. The general seemed ... a great deal (to age).

12. Charles met me the first day I came to London, and our friendship
seemed... a long time (to establish).

13. He did not even seem ... what the fuss was about (fo
understand).

14. In front of one window there was a small table and Harry was
sitting at it, peering at a pile of papers which he seemed ... or ... (to copy,
to translate).

15. When I arrived there I didn't see the dog. Not much else seemed ...
(to change).

16. Then I caught sight of her on the far side of the square. She
seemed ... good-bye to someone (o say).

The Infinitive as an object.

The Infinitive in the function of object is usually translated by Russian
Infinitive, sometimes by an object clause. In this function the Infinitive
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may be preceded by the introductory object it. The introductory object
is not translated into Russian.

He found it utterly impossible to leave the spot.
OH cYnTaI COBEpLIEHHO HEBO3MOXXHBIM IIOKMHYTh 9TO MECTO.

Task 1. Translate the sentences in which the infinitive is used as
an object.

1. 'm sorry to have given you such a lot of trouble.

2. 'll be delighted to help you in any way I can.

3.1 was happy to be sitting with them in the warm sun.

4. Jack was glad to be received like a war hero.

5. She didn’t pretend to have read much.

6. I'm awfully sorry to have been wasting time on you all these
months.

Task 2. Put the infinitive in brackets in the proper form.

1. I was proud (to be) in the company of such a pretty girl. 2. She lay
there with her eyes open, not thinking, just glad (to lie) in peace. 3. 'm
sorry (to keep) you waiting. 4. He was also watching me, although he
pretended (to read). 5. I'm sorry (to say) it but your brother made me
lose my temper. 6. We could see that he wanted (to leave) alone.
7. Youre lucky (to work) with such a man. 8. He didn’t want (to
interrupt) at this moment, but he took the receiver. 9. I was surprised
(to ask) about a spare ticket — it was a second-rate performance.

Task 3. Use the infinitive as object to a verb in the sentences with
a formal ‘i’ as subject or object:

1. It came as a shock to me ... that he had left his wife (to realize).

2.Tlaughed. It made me feel good ... that someone else felt the same
way about it as I did (to know).

3. It didn't serve any purpose ... why Marion had decided to be
friends with me (to analyze).

4. It is against the law in the country ... a revolver (to carry).

5. It amazed me ... that Pat not only understood his arguments but
shared them (to feel).
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6. Our hostess made it a point never ... wives with their husbands
(to ask).

7. When it comes down to ... children do something against their
will it pays ... rationally with them (to make, to argue).

The Infinitive as an attribute.

In this function the Infinitive is used after class and abstract nouns
(desire, beauty, time, assistance, etc.), expressions of quantity (plenty,
much, little, etc.), indefinite pronouns (somebody, something, no one,
nothing, etc.), ordinal numerals and the adjective last.

NOTE:

- After “there is / are” both active and passive forms of the Infinitive
are possible but Active Infinitive is more usual.

There is plenty to do / to be done.

- Theres a difference in meaning between the following set
phrases:

Something / anything / nothing  something / anything / nothing

to do to be done
There’s nothing to do. There’s nothing to be done.
Heuem 3anamucsi. Huuezo He nodenaeutv.

— The Infinitive is mostly translated by an attributive clause which
expresses obligation, possibility or future action.

This question will be discussed at the conference shortly fo open
in Moscow.

9TOT BOmpoC 6yHeT 0OCY>KAATbCS Ha KOH(EpeHLNN, KOmopas
0o/icHA BCKOpe omkpbimucs (BCKOpe 0TKpoeTcsi) B Mockse.

— The Perfect Infinitive Passive in the function of an attribute points
to the action which was to take place but it wasn't performed. The
Infinitive in this function often expresses modality.

Examinations were to have been passed at the beginning of June.
OK3aMeHbI JO/DKHBI OblM OBITH CIAHBI B Havase MIOHs (HO He
OBIIV CHAHBI).

— After the words the last and ordinal numbers the Infinitive in this
function is translated by the finite verb in the required form.
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He was the first to offer his hand to me.
Ou 6b11 nepsvim, kmo (KOmopotii) NPOMAHY MHE PYKY.

— The Passive Infinitive in the attributive function preserves the
preposition of the verb and it's mostly translated by an indefinite
personal sentence.

There was nothing to be astonished at.
YouBAATBCA OBUIO HeYeMy.

- In some cases the Infinitive in this function may be translated by
an adjective, participle or noun with a preposition.

The shape of things to come is shown by the data obtained by the
experts.

O xapaxkrepe npedcmosuiux COOBITUIT MOXKHO CYAUTDb IO JaH-
HBIM, [IO/Ty4E€HHBIM CIIeIMaINCTaMM (SKCIePTaMII).

- Depending on the context the Infinitive used attributively may be
rendered as a simple sentence; modality is expressed lexically.

He had no objections to make.
Y Hero He ObIIO BO3pa>KeHUIL.

Task 1. Point out the infinitive attributes. Translate the sentences
into Russian.

1. It’s a chance not to be missed.

2. No one liked to be the first to move.

3. T have a word to say to my daughter.

4. There was not a moment to lose.

5. There is no time to be lost.

6. We are going to find a place to phone from, and maybe have some
refreshment.

7. Davy was never one to promise and not keep his word.

8. So you've got nothing to reproach yourself with.

9. There was so much to do.

10. He was quick-witted, unpompous, the easiest man to do business
with.

11. He was the first to speak again.

12. I haven't any time to spare.

13. I promise you there’s nothing to fear.

14. I won, but it’s no victory to be proud of.

15. We came into Spezia looking for a place to eat.
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Task 2. Translate the sentences with the infinitive in the function
of an attribute.

1. The Congress called for efforts to raise the cultural level of labor.

2. The rapidly raising capability of production to expand goes
counter to the consuming power of the masses.

3. The creation of larger free-trading regions created opportunities
to capitalize upon economies of scale.

4. Joint ventures are a major way for the multinational company
to raise local financing and to regulate the risk from devaluation of
currency and inflation.

5. The USA has shown a tendency to expand her investments and
control on the American continent.

6. The campaign to eliminate the controls of domestic oil and gas
prices is an indication of the more profits for the corporations.

7.1t proclaims the right of states to take over their natural resources
and develop them in the interests of their peoples.

8. Attempts of the producers to intervene into prices and supply are
provoking fierce resistance.

9. Some West European governments did employ measures to
restrict the movement of «<hot money».

10. Enlargement of the EEC to include Britain made the problems
facingthe developing countriesin finding markets for their manufactures
worse for another reason.

11. Both the current inflation and recession are the outcome of the
attempt to prolong the historic life of the system.

12. The instruments of dollar sterilization will be applied, and this
means measures to withdraw the dollar from circulation.

13. The proportion of imported raw materials to be used in the
manufacture of producer goods increased in comparison with the
proportion to be used in the manufacture of consumer goods.

14. There are difficult problems to be tackled, the solution of which
will call for changes in policies.

15. The price of Japanese made vessels to be sold abroad could
rise under efforts by Transport ministry to expand controls on the
shipbuilding industry.
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The Infinitive as an adverbial modifier of
a) Purpose

In a formal style the Infinitive in this function can be introduced by
in order and so as (ana Toro yTo6bI; 4yT0OHI). The Infinitive expressing
purpose can be placed either at the beginning or at the end of the
sentence. The Infinitive is translated by the Russian Infinitive or verbal
noun with the preposition «amsa».

To overcome the crisis a new economic policy was proposed.
Iyt Toro 4yTo6b1 peomoneTs kKpusuc (s mpeononeHns Kpu-
3uca...), O6bUIa IIpeIoXKeHa HOBast 9KOHOMIYECKas MOMNTHKA.

In negative sentences it's normal to use so as not to (not “not to”
alone).

So as not to embarrass, I never criticized him for his frequent
failures.

Task 1. Use the proper Infinitive and translate the sentences into
Russian.

to spend, to see, to keep, to fetch, to have

1. Jenny had driven oft next day . . . the twins from a swimming-pool
near by.

2. “Hallo, Margie,” I said. “Have you come . . . me company?”

3.Tarrived on a Saturday afternoon . . . a week there.

4. He invited them to the flat one evening . . . coffee.

5. Sometimes people came from London especially . . . the Black
Madonna.

Task 2. Paraphrase the parts in bold type to use the Infinitive in
the meaning of purpose.

Model: He raised his hand so that he might attract the students’
attention.
He raised his hand to attract the students’ attention.

1. They decided to have a special meeting so that they might come to
some agreement.
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2. She bought this book so that she might kill the time on the train.

3. Children go to school in order that they may learn things.

4. He has come here so that he may have a talk with you.

5. He repeated it several times. He wanted to make the child behave.

6. My neighbor often calls on me so that we may discuss politics.

7.1 called at the office so that I might leave a note with the secretary
for the chief.

8. The young worker followed the instructions carefully. He didn’t
want to spoil the machine.

9.1 turned my head so that I might hear better what she was talking
about.

10. He didn’t mention this fact. He didn’t want to hurt her feelings.

11. She spoke in a soft voice in order that she might not attract
anybody’s attention.

12. He paid special attention to his pronunciation. He wanted to
sound natural.

Task 3. Translate the sentences into English with the Infinitive as
an adverbial modifier of purpose.

1. 5 npuiern, 9T06bI YOEAUTHCS, CMOTY JI) 51 IOMOYb BaM.

2. HaMm Hy>XHO BCTPeTUTBCS, YTOOBI HAKOHEL] PeLNTD 3Ty IPOoOIeMy.

3. OnHa OTK/IafbpIBaeT HA YEPHBI JleHb, YTOOBI BIIOCTEACTBUU He
0Ka3aTbCs B 3aTPYHUTE/IbHOM IIOIOKEHNN.

4. OH HofOILIeN K IETAM, 4YTOOBI TOMPOLIATHCS.

5. MbI BO3bMEM TaKCu, YTOOBI 130aBUTH T€OSA OT HEOOXOIMMOCTI
OTBO3MTDb HAaC B a9POMOPT.

6. OH ynbIOHY/ICA eil U TOLIe/I HOMOTaTh ToMY YK/Ia/ibIBaTh BEIN.

7. IovipuTe 1 HalANUTE KOrO-HUOYAD ellle, KTO MOT ObI IOMOYb HaM.

8. OHa ycTponiach noygo6Hee, YToObI He YyBCTBOBATh Ce0s yCTaB-
uIeil K KOHITY IO€3KIA.

9. OHa oro1Ia Ha3aj, YTOOBI IOCMOTPETD Ha CBOKO paboTy.

10. IMonago6mmIOCh MATHAALIATD MUHYT, YTOOBI UCCIIEAOBATb BTO-
Py KOMHATY.

b) Result

1) It chiefly occurs after adjectives modified by the adverbs enough
and too, such...as, so, only. The Infinitive often expresses the modal
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meaning of possibility. In this function it is translated by the infinitive
or by a sentence with the conjunctions «» nmm «HO».

He was so weak as to be unable to work.

OH 6b11 mak cnab, umo He Moz pabomame.

This question is too difficult to be settled without further
consultations.

DTOT BONPOC CIUUKOM CIIOXKEH, YTOOBI €T0 MOMHO Obiio pas-
pewiumy (4TOOBI €ro paspelnTsb) 6e3 JaTbHENIINX KOHCY/IbTa-
LIUTA.

He managed to obtain this concession from the management
only to find that no one really needed it.

OH 106WM/ICS 9TON YCTYIKY OT aAMUHUCTPALNN, HO 0OHAPYHCUTL,
9TO OHA HUKOMY He HY>KHa.

2) If there no words mentioned above the Infinitive in the function
of an adverbial modifier of result may be translated by a clause with the

«_ »

conjunction “u’.

Last year he resigned his post never to return to public life.

B mpomtoM rofy oH yIuesn B OTCTaBKY U HMKOIZA YoKe He 603-
épawyancsa K oOILIeCTBEHHOI >KU3HM (TOCYZapCTBEHHON fes-
TETbHOCTH).

3) The Infinitive in the function of an adverbial modifier of result
preserves some difficulty in translation into Russian. It may be easily
confused with the Infinitive of purpose. You should analyze the sentence
or even a wider situation to understand its function - the Infinitive in
the function of purpose or result.

He reached the island to discover he had left his fishing rods
(result).

OH f06pancs 0 OCTPOBa U 00HAPYIHCUL, YTO 3a0bIT YIOUKN.
The interest rate was raised fo attract customers (purpose).
[TponeHTHasA cTaBKa ObIIAa YBe/IU4eHa 0714 (¢ Uenvio) npusnete-
HUS BKJIQYMKOB (41mo6vl npusseus 6K1a04UKOS).

Task 1. Distinguish the functions of purpose and result in the
sentences.

1. She returned to find the place deserted by everybody.
2. He rose from his seat to greet me.
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3. He was too young to be treated seriously.

4. He awoke the next morning to find himself in a completely strange
place.

5.Tlooked up to see the stranger better.

6. The boy looked up to see a stranger above him.

7. Just as he reached the sand he heard a shrill voice and turned to
see the German girl a dozen yards away.

8. Let’s gather some wood to make a fire.

9. There is not enough wood to make a fire.

10. The expedition went to the South Pole to explore it.

11. Scott’s expedition went to the North Pole to eventually find their
death there.

Task 2. Change resultative clauses for infinitives.

a) Use “enough” or “too”:

1. The young doctor is not experienced enough; he cannot perform
such an operation.

2. He is a clever enough boy; he can do without our help.

3. He was too big a man; he couldn’t get out through the small
window.

4. T hope you are artist enough and can appreciate the beauty of the
landscape.

5. She was no longer a little girl; she was woman enough, so she
could sense his real intentions.

b) Use “such as to” or “so ... as to”:
1. The wind was so strong that it tore off the roofs of the houses.
. The wind was such that it tore off the roofs of the houses.
. The task is not such that could be done in a few hours.
. The task is not so easy that it could be done in a few hours.
. He was so strong that he could lift a calf.
. His strength was such that it allowed him to lift a calf.
. The difficulty of the situation is not such that could be ignored.
. The difficulty of the situation is not so slight that it could be
ignored.
9. He was so big a boy that he could reach the ceiling with his
hand.
10. He wasn’t such a silly boy that he would be deceived by fine
words.

0NN U W
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Task 3. Translate the sentences with the infinitive used as an
adverbial modifier of result or purpose.

1. ITo>xmb OB TAaKOW CU/IBHBII, YTO He ITO3BOJISA/I HAM BBIATH Ha
YIIALLY.

2. lo>xab ObIT TAKOJA, YTO HE ITO3BOJIAI BBIITY HA Y/INILY.

3. 5] He 3HAIO HEMEILKMII HACTONBKO, YTOOBI IIEPEBOANUTD Oe3 CIo-
Baps.

4. 5l He 3HAaI HEMELKMIT TaK XOPOUIO, YTOOBI MEPEBOAUTH Oe3
CloBaps.

5. OH 6bIT HACTONIBKO HAMBEH, YTO BEPUJI BCEMY.

6. OH He TaKoOJl HaMBHBIIl YeTOBEK, YTOOBI BCEMY 9TOMY IOBe-
PUTD.

7. OH TaK XOpOIIO pa3bupaeTcs B MaTeMaTHKe, YTO MOXKET PEIlUTh
mo6ylo 3aaqy.

8. Ero mosHaHua B MaTeMaTMKe TaKOBBI, YTO IO3BOJAIOT MY pe-
INUTD TI00YI0 3a/1a4y.

9. 5 cnuuIKOM I/IOXO 3HAK0 MAaTeMAaTHKY, YTOOBI pellaTh TaKue
3alaqn.

10. OH C/IMUIIKOM JIETKOMBIC/IEHHBIN 4€/TOBEK, YTOOBI MOHMMATh,
KaK BeCTV ce0s1 B TAKOW CUTYaIUIL.

11. BbI OCTaTOYHO ONBITHBIN Bpay, 4TOOBI He JIefIaTh TAKOTO porna
OLINOKIL.

12. OH 6bLT HACTONBKO HAMBEH, YTO BEPUT BCEMY.

13. OH He HACTONBKO HAMBHBIN YeTOBEK, YTOOBI BCEMY 3TOMY IIO-
BEPUTD.

¢) Attendant circumstances.

NOTE: The Infinitive in this function doesn’t differ much from
the function of an adverbial modifier of purpose. But it is used only
at the end of sentences and doesn’t express purpose distinctly. The
Infinitive in this function is translated by «zeenpuuacrtue», a verbal
noun with the preposition «c» or a finite verb with the conjunction
«UI».

I am sorry to have raised your expectations, Mr. Blake, only to
disappoint you (Collins).

MHe 04eHb )KaJib, YTO IPOOYANI B BaC HalEeX Ay, MucTep breiik,
TOJIBKO IS TOTO, YTOOBI 3aTeM OTHSATD ee.
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Task 1. Translate the sentences paying attention to the Infinitive
in the function of an adverbial modifier of purpose, result and
attendant circumstances.

1. But the expansion of the market has not been sufficient to yield
the same rate of profit.

2. The difficulties became sufficiently general to cause many owners
to hesitate to make new investments.

3. Under such circumstances monopolies will find an excuse for
limiting oil production so as to recreate the artificial shortage of oil.

4. The Cartel in its complete form is a selling syndicate formed to
take over or control the marketing of the output of the member firms.

5. Large numbers of American corporations became multinationals
simply in order to maintain or to expand markets in Canada or in the
EEC.

6. The multinational corporation may originally establish an overseas
plant to protect an existing market to which it is exporting or in order
to expand sales.

7. They try to adapt their polices and tactics to meet the new
conditions.

8. The term «programming» is used here to make a distinction
between this and the planning in other countries.

9. This is clearly insufficient to justify the assertion that we have
entered a technocratic epoch.

10. Individual firms were not large enough to exercise a perceptible
influence over the market.

11. The developed countries desperately need foreign markets to
keep their industries running.

12. Provisions exist in the constitution of the Fund for modification
of rates if circumstances are such as to require it.

13. When too many laborers arrived to be absorbed on the East
Coast, they could usually move on to Farmland in the interior.

14. Some of these men were honest, according to business standards
of their day; others used force, bribery and guile to achieve their wealth
and power.

15. Firms merged to create huge, diversified «conglomerates» for
example International Telephone and Telegraph Co.

16. Some individual proprietors join forces with others to form
chains of independents or cooperatives.

17. Some directors are selected to give prestige to the board, others
to provide certain skills or to represent lending instructions.
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18. Hedgers are business firms (or individuals) that enter into
the commodity contract to be assured access to the commodity at a
guaranteed price.

19. Strict regulations are needed to keep businesses from cheating or
harming workers or consumers in order to increase business profits.

20. The government used the act to break up the Standard Oil
Company and overall other large firms that have abused their economic
power.

21. The agency sets and enforces tolerable limits of pollution, and
establishes timetables to bring polluters into line with standards.

22. The federal budget includes savings accounts that cannot
automatically be converted to make purchases.

23. The new conditions may interact with the size of the money
supply to create a totally unintended result.

24. Spending and taxing policies work together to increase or
decrease aggregate demand.

¢) Comparison (manner)

In some cases it has the additional meaning of purpose. In this
function the Infinitive is introduced by the conjunction as if or as
though and translated by adverbial clauses.

She nervously moved her hand towards his lips as if to stop him.

OHa HepBHO NPOTsAHY/IA PYKy K ero rybam, xak 6yomo xomena
ocmaHosump ezo.

As parenthesis:

To put it another way - nnade rosops; to say nothing of — He
rosops yxe o; suffice it to say - mocraTouHo ckasarp, 4To; to con-
clude (to sum up) - B 3akmioueHue (cymmupy#); to be sure —
HEeCOMHEHHO; to put it mildly - marxo Berpaxasics; to tell the truth —
o TpaBje roBops; so to speak — Tak ckasarp; to cut a long story
short - xopoue roBops; to say the least of it - 4T06ObI He cka3aTp
6onbire; to begin with - nmpexxge Bcero, BHauase; to be honest -
YeCTHO TOBOPS, /M OBITh YeCTHBIM; to anticipate a little — 3a6eras
HECKOJIbKO BIIEpe].
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Task 1. Translate the sentences into Russian and learn the
expressions in italics.

1. Early in the morning - to be exact at a quarter to ten — Hill arrived
at the station.

2. To tell the truth, I lost faith in him.

3. To be honest, she couldn’t remember much of you.

4. To cut it (a long story) short, the experiment has failed

5. To begin with, we'll do some sketching here and then look for a
sunnier place.

6. To be quite frank, I'm against your plan.

7. To put it mildly, he hasn’t enough experience in this field.

8. Strange to say, the novel was a success.

9. Needless to say, Ernest kept his word.

Task 2. Translate the phrases in brackets.

1. This occurred 7 years ago, a week before her birthday (Tounee
rOBOPS).

2. (Kax Hu cTpanHo, HO) I remember how my father took me to the
pond on Sundays though I was only five then.

3. (ITo mpaBpe roBopst) that murder case excited everybody’s interest
in our small town.

4. (Haunem c toro, uto) I know who you are and why you've come
here.

5. (OtkpoBenHo rosopsi) I have no doubts about it.

6. (Kopoue rosops) I accept your offer.

7. (Marko BeIpaxkasch) he is a strange fellow.

Task 3. Explicate the meaning of the infinitive used parentheti-
cally.

1. To be quite frank, your behavior is hard to explain.

2. He was a great man, to be sure.

3. To tell the truth, I never really believed what he said.

4. To cut a long story short, the trip turned out to be a complete
failure.

5. We lost the road in the wood, and, to make things worse, it started
raining hard.

6. She is not always well-behaved, to say the least.

24

7.1l try to explain the reason for our quarrel: to begin with, we have
never been very close.

8. You lied to me, or, to be more precise, you didn’t tell me the whole
truth.

9. There were three men in a boat, to say nothing about the dog.

Task 4. State the functions of the infinitive.

1. To have seen London does not mean to have seen all of England.

2. You ought to have warned us in due time!

3. He was ashamed to speak to her after that.

4. I was too shy to try to speak to her again.

5. He'll probably get a chance to be offered that post.

6. He is not so easy to persuade.

7. It wasn't hard to persuade them.

8. Whether to agree or not is not the main problem.

9. The question is how to get there.

10. I didn’t know what to believe.

11. She was about to say that they had no right to do so, but she
stopped in time.

12. He had something to think over.

13. He stopped to greet a neighbor.

14. He awoke one morning to find himself famous.

15. Not a soul was to be seen in the street.

16. There was not a soul to be seen in the street.

17. The problem was such as to puzzle anyone.

18. He hadn’t enough money to buy all that.

19. The impulse to help him was irresistible.

20. There is no need to lose your temper.

21. You needn’t have bought so much bread.

22. The weather was so bad as to keep us in all day.

NOTE:

1. The Infinitive at the beginning of the sentence can be used either in
the function of a subject or adverbial modifier of purpose, or parethesis.

It’s required to analyze the syntactic structure of the sentence.

2. After the verb to fail or the noun failure the Infinitive expresses
an ill-fated attempt or negation of the action. It’s often translated by the
negative form of the finite verb.
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The negotiators failed to come to agreement.
Y4acTHUKY IEPETOBOPOB He NPpUuuisi K co2nacuto (He CMOTII J0-
TOBOPUTBCS).

3. To be bound with the Infinitive is translated as o6sa3amenvHo,
Heu30excHo 007HHO Obimb.

It was bound to happen.
91O HeusbexnHo 00/HHO 6bino TPOU30ITH (CTTYIUTHCS).

Task 1. Analyze the sentences and translate them into Russian.

1. Even from the point of view of Britain'’s homegrown capitalists, the
current policies are failing. That is the only conclusion to be drawn from
the Bank of England’s quarterly review and the report of the Commons
Treasury and Civil Service Committee.

2. Information comes in floods now, but we haven’t installed a way
to use the brains with the capacity to filter and distill it.

3. The decision to ban export of beef and cattle from Portugal was
made after a sharp increase in the number of cases last year of « mad
cow» disease in cattle grown in Portugal.

4. The candidate said this morning that he was fully aware of the
obstacles to be faced and the charges that would be made.

5. The Euro-American democracies have, in the new NATO, a
central organization fo co-ordinate the military actions of those NATO
members which decide they need to act.

6. The US government controls exports of strong encryption products
to preserve its capability to decode messages from foreign governments
and criminals.

7. There arelessons to be learnt from the cold war, but the inevitability
of a peaceful outcome is not one of them.

8. Most Japanese educators concede that a reliance on role learning
and cramming does great damage to creativity, and many universities
are moving to include interviews and essay writing in their entrance
tests.

9. A personal campaign to acquaint the farmers with the facts about
this year’s agricultural price review will be launched by the Minister of
Agriculture on Monday.

10. Peru plans to raise $1 billion through bond sales and loans to
help the country’s struggling companies restructure debt.
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11. Britain had the most extensive network of double taxation
agreements in the world to protect companies trading in Britain and
other countries from paying tax twice over.

12. The said tax increases to reduce government borrowing would
do little to help recession hit industry or reduce unemployment.

13. The United States used the UN inspection team to send a US spy
into Baghdad to install a highly sophisticated electronic eavesdropping
system.

14. In his semiannual report to Congress, the US Federal Reserve
chairman suggested that « storm clouds massing over the western Pacific
and headed our way» might dampen demand for US goods and services
just enough to relieve inflationary pressure — and render unnecessary a
Fed hike in short-term rates.

15. To meet the need for increasingly precise forecasts, meteorologists
hope to extend their observational system until it covers every corner
of the earth.

16. The general feeling in Egypt is that the government has won its
war against the Islamist militants. What it is still not confident enough
to do is to allow political Islam a public voice.

17. Japanese consumers have simply not been purchasing many
of the high-ticket items—particularly automobiles and appliances - in
sufficient volume to keep Japan's economy moving at the higher rate
business would like to achieve.

18. Although Mr. Kim [South Korea] was the first of the three to
embrace the need for a rescue by the International Monetary Fund, he
made worrying noises about wanting fo renegotiate the deal once he
entered office.

19. Mr. Cook is not the first British foreign secretary to arrive in
office determined to change things, nor will he be the last to run up
against the diplomats’ natural skepticism about his ability to do.

20. The achievement [of Ireland] is certainly not to be dismissed, as
some would have it, as a matter of statistical fudges, subsidies from
Europe and tax dodges for multinationals. But lessons for would-be
tigers are either difficult to infer or of little use.

21. Scientology tries to turn its followers’ minds and part them from
their money; of course it will try to change their lives forever. But so do
lots of religions.

22. Any newly elected government can expect to be given the benefit
of the doubt by the public.
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23. The US. Federal law allows the satellite systems to provide
network programming only to a viewer who cannot receive the local
affiliate of a network using a conventional TV antenna.

24. The United Nations said that a UN delegation would visit China
next month to look at what help the country needs to implement its
commitments on human rights.

25. This attack on Serbia may be the start of a new trend to restrain
thugs and despots, though it does not look terribly likely.

26. They say ways and means must be found whereby developing
countries can expand their exports and increase foreign exchange
earnings to pay for such internal programmes as power projects,
transportservices, exploitation of natural resourcesand industrialization
generally.

27. The US President calls on America to accept a global role.

Task 2. Analyze the grammatical structure of the sentences to
differentiate between the Infinitive in the function of a subject or
adverbial modifier of purpose. Translate the sentences.

NOTE: The Infinitive in both functions can be used at the beginning
of sentences.

1. To fulfil its commitments to the people a trade union needs the
support of a strong and influential party.

2. In order to maintain price there is generally a system of output
quotas allotted to each firm.

3. To achieve any serious improvement in their economic conditions,
the American working people must fight to realize their goals.

4. Tt is obvious that «to slow down» inflation and to cut taxes was the
first aim of the policy.

5. To solve the problems these countries issued paper money.

6. To maintain itself as a social system it was obliged to create an
intricate mechanism of state intervention in economic system.

7. To combine the advantages of both systems and avoid the draw-
backs of both systems was the aim of the International Monetary
Fund.

8. To increase exploitation of British workers it is necessary to
impose policies by force of law.

9. To assist developing countries in meeting their own needs the
Peace Corps sends volunteer Americans overseas.
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10. To affect these factors, legislation was enacted creating the Small
Business Administration, an independent federal agency.

11. To consider policy related to operational decisions and to review
accomplishments the board meets monthly or quarterly.

12. In order to legalize the collection of revenues and expenditure of
funds the federal budget must be enacted into law.

13. To participate in this programme, farmers must again take some
of their lands out of production.

14. To find its own way of economic development was then of prime
importance for the country.

In Modern English there are the following predicative constructions
with the Infinitive:

1) the Objective-with-the-Infinitive construction;

2) the Subjective Infinitive Construction;

3) the for-to-Infinitive Construction.

2. The Objective-with-the-Infinitive Construction

1. The Objective-with-the-Infinitive Construction (Complex Object)
consists of two parts: Noun /Pronoun in the objective case and the
Infinitive. It's a predicative construction because the noun or pronoun
denotes a doer of the action while the Infinitive expresses the action
performed by the doer.

This Infinitive Construction is used after:

a) The verbs denoting sense perception, such as to hear, to see, to
watch, to feel, to observe, to notice, etc. (no particle to).

I felt the blood rush into my cheeks, and then leave them again
(Collins).

51 OYYBCTBOBA, KAK KPOBb NPUNUIA K MOUM UEKAM, 3armem
CHOBA OMXJILIHY/IA O HUX.

After the verbs of sense perception only the Indefinite Infinitive
Active is used. If the meaning is passive we use Participle II.

I saw the fire slowly conquered (Collin).
If a process is expressed Participle I Indefinite Active is used.

He saw Flew coming (Galsworthy).
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b) the verbs denoting mental activity, such as to know, to think, to
consider, to believe, to suppose, to expect, to imagine, to find, to feel, to
trust, etc.

After verbs of mental activity in the Objective-with-the-Infinitive
Construction the verb to be is generally used. (This restriction does not
apply to the verb to expect.) The use of this construction after most verbs
of mental activity is more characteristic of literary than of colloquial
style.

I know you to be the most honest, spotless creature that ever lived
(Hardy).

51 3Hat, umMo 6vL camoe uecmHoe U Ge3ynpeuroe CyuLecmeo u3
BCeX, KOIZia-m60 >KUBIINX Ha CBETe.

c) The verbs of declaring: to pronounce, to declare, to report.

She declared him to be the most disobedient child in existence.
OHa 3as1BI/Ia, 410 310 CAMbLLL HENOCILY WHbILL pebeHOK Ha caeme.

d) The verbs denoting wish and intention: to want, to wish, to desire,
to mean, to intend, to choose (in the meaning of xoTeTs).

I did not mean you to learn the poem by heart.
51 He MMen B BUJLY, 4mo0Obl 8bl BbLyHUNU CIUXOMBOPEHUE HAU-
3ycmo.

e) The verbs and expressions denoting feeling and emotion: fo like,
to dislike, to love, to hate, cannot bear, etc.

I cannot bear you to speak of that (Eliot).
51 He MOTy BBIHOCUTD, K020a 6bl 2060pUIe 00 3MOM.

f) verbs denoting order and permission: to order, to allow, to suffer,
to have etc.

Here we find the Objective with the Infinitive only if the object is
expressed by a noun or pronoun denoting a lifeless thing or when the
infinitive is passive. This restriction does not apply to the verbs to suffer
and fo have.

Mr. Merdle ordered his carriage to be ready early in the morning
(Dickens).

Mucrtep Meppib npukasau, 4mobvl IKUNAx Obisi 20mMos pamo
ympom.
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She suffered Mr. Franklin to lead her back into the room
(Collins).

Owna no3Boma mucmepy Ppanknuny omeecmu ce6s 06pamHo
B KOMHATYy.

Theverb to suffer, when followed by the Objective with the Infinitive, is
rendered in affirmative sentences by HeoxoTHO pa3pernTs, n03601uUMo
(ckpens cepoue). In negative sentences it is rendered by donyckameo.
The verb to have denotes permission only in negative sentences; it is
very close in meaning to the verb to suffer and is translated in the same
way.

g) verbs denoting compulsion: to make (3actaBnATh), to cause (3a-
CTaBUTb, PACIIOPSAUTDHCA), to get (RoOuThCs), to have (3acTaBUTh; CKa-
3aTh, YTOOHL. . ).

(the Infinitive is used without fo after the verbs make and have).

Light steps in the gravel made him turn his head (London).
Jlerkue 1mary 1o TpaBUIO 3aCTABWUIN €20 HOBEPHYMb TOTIOBY.
She caused a telegram to be sent to him (Galsworthy).

OHa pacropsAanIace, 4mobvl. emy nocianu menezpammy.
Mr. Dalrymple had the drayman bring in the soap (Dreiser).
Mucrep JanpuMILL BeleN U36034UKY 6HECU MbIIO B [IOM.

NOTE: Though the infinitive as a rule is not used with verbs requi-
ring prepositions, the Objective with the Infinitive is widely used with
the preposition for. Occasionally it occurs with the preposition on or
upon (after the verb to rely):

I rely on you to come in time.
Sl paccunThIBaIO, YTO BBI IPUAETE BOBPEMS.

Translation: The Objective-with-the-Infinitive Construction (Com-
plex Object) is nearly always translated into Russian by a subordinate
clause (4ro, uT06BI, Kak) or sometimes by a simple sentence.

Task 1. Note the Complex Object with the infinitive and the verbs
it is used after. Translate the sentences into Russian.

1. We expect these phenomena to have been investigated.
2. Everybody considers her to be a great organizer.
3. We found that effect to have been unknown.
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4. They thought the information to have been published recently.

5. Knowing him to be good at psychology, I asked him to explain
this rule.

6. The scientist expected his assistants to obtain some new data.

7. If the Government expected the tenants to take the increase lying
down, they were very much mistaken.

8. They heard him deny it.

9. This story was told to get him to go to the police station.

10. The major Powers expect the talks to take place at the end of the
next month.

11. They announced it to be the law.

12. There’s some information I want you to obtain.

13. He liked to see them work.

14. Let’s get to the point.

15. Oh, Jack, you made me start.

16. She gave a meaningful sigh which made him drive all the
faster.

17. T was dusting the saloon, and I saw him pass, and his face was
white.

18. Lawson nodded quickly and walked away. Philip felt a shiver
pass his heart.

Task 2. Paraphrase the following sentences using the Complex
Object with the infinitive.

Model: She watched how he went. She watched him go.

1. He heard how one of the other girls in the shop addressed Jane.
2. He felt that the eyes of his fellow-students rested on him. 3. She saw
that the door of the sitting-room opened and her mother entered.
4. What I want is that your uncle shouldn’t be left alone. 5. She smiled
when she heard how he locked the door loudly. 6. What she wanted was
that he would come and see her. 7. Jack watched how Eliza leave, then
he walked slowly down the hall to his father’s room. 8. I've never heard
him how he spoke of his life in Canada.

Task 3. Translate the sentences into English.

1. O Habmoan, KaK >KeHa Haaula eMy Kode ¥ II0CTaBIIa JalIKy
Ha CTOJL
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2. CycTs HEKOTOpO€ BpeM:A OH C/IbIIIaJ, KaK BXOJHAsA gBepb OT-
KpbUIACh U 3aKPbIIACh.

3. Ero mmcpMa 0OBIYHO 3aCTaBIIAIN €€ CMEeAThCA.

4. BaM HY>XHO 1T03a00TUTBCS O My>XKe I He pa3pelIaTb eMy CIIUII-
KOM MHOTO paboTaTb.

5. Bol xoTHTE, 4YTOOBI 51 CKa3ana eMy 00 9TOM CEeTORH?

6. OH 3axer cebe curapy u IOCTapajcs paccmabuUTbCs, Kak BAPYT
OH YCJIBIIIAJ, YTO OTKPBIBAETCA BXO/IHAA IBEPD.

7. DpYIK OTOLIIeT B CTOPOHY U HAaOJTIOfa/, KaK MbI Pas>KUTaj KOCTep.

8. OH Hames, 4TO 6paTbs OBIIM OYeHb 3HAIOLIVMM, [e/IOBBIMMU
TIO[IbMIL.

9. Ona crplmana, Kak Iofgbexajaa MallMHa, X KTO-TO IIOCTy4Yasa B
IBEPbD.

10. Mos cocenka Bupena, Kak ToM BbIIIesT 13 BOPOT BMeCTe CO CBO-
eif CecTpoit, M OHM HAIIPABIWIMCh K aBTOOYCHOI OCTaHOBKE.

11. OH 3acTaBMUI MeHA paccKas3aTb eMy MCTOPUY O MOEN ceMbe.

12. OHu cpemanmm Bce BO3MOXKHOE, YTOOBI 3aCTaBUTh ChIHA ITepeMe-
HUTD CBO€E PelLIeHMe.

13. 4 He mr06/10, KOT/IA IOV IPUXOAAT B @9POIOPT IMIPOBOXKATD
MeHH.

14. 3areM oH yBuzen, Kak Mopuc 3aruern B 6ap.

15. I 9yBCcTBOBAJ, 4TO NOpa MO3BaTh JoKTOpa. f Benen [JaHy mo-
3BOHMTb OT MOETO UMEHM.

Task 4. Analyze the sentences, find the Complex Object with the
infinitive and translate them.

1. The ancients thought the Earth to be flat.

2. Some scientists consider Mars to be covered with vegetation.

3. As in liquids, the atmospheric pressure at any given point is equal
in all directions but we know it to decrease as altitude increases.

4. On close examination of a piece of granite we find it to be
composed of several kinds of minerals having different degrees of
hardness, different colors, and different properties in general.

5. We know the first central electric power-stations to have been
built for the supply of electric light.

6. Using more rigorous reaction conditions, Doern found the ethyl
derivative to yield alcohol.

7. Spectrographic analysis provided by the laboratory showed this
tin to be 99, 99 % pure.
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8. One cannot expect a complicated problem like that of using solar
energy to be solved in a year or so.

9. Some kinds of paint allow the metal to stay under water for several
years without being repainted.

10. It is the gravitation that makes the satellites move round the
earth.

11. The plasticity of steel, whether at room temperature or at elevated
temperatures, allows it to be worked either hot or cold.

12. Different gases might cause the currents to differ by altering the
surface of the metal either by combining with it, or by condensing on
its surface.

13. In the deformation of a metal, we have seen slip take place along
definite crystallographic planes in definite directions.

14. On theoretical grounds one would expect the minimum
frequency for ionization to be connected with the ionization potential,
as found by Frank and Hertz’s method or from spectral considerations.
There is however the possibility that the molecule might be ionized in
stages.

15. The kinetic theory of gases assumes a gas to be made up of
particles (the molecules) moving about with random motion.

16. Complicated additivity rules are extremely useful in enabling
one to calculate in advance the approximate value of the refractivity of
a chemical compound whose dispersion has not been measured.

17. We might synthesize water by allowing hydrogen and oxygen to
combine, which they do very readily.

18. X-rays have been of tremendous assistance to the engineer in
enabling him to work by knowledge instead of by rule of thumb.

19. During his lifetime Roentgen had the satisfaction of seeing his
discovery become a major diagnostic aid in the field of medicine.

20. In Europe the twelfth century saw the first canals cut by the
Dutch, but it was not till the fourteenth century that the invention of
locks in Italy made inland navigation possible on any large scale.

21. Chekhov soon discovered that it was impossible to make the
reader draw the right moral from his stories.
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3. The Subjective Infinitive Construction

The Subjective Infinitive Construction (traditionally called the
Nominative-with-the-Infinitive Construction or Complex Subject)) is
a construction in which the infinitive is in predicate relation to a noun
in the common case or a pronoun in the nominative case.

The peculiarity of this construction is that it does not serve as one
part of the sentence: one of its component parts has the function of
the subject, the other forms part of a compound verbal predicate. The
sentence with the Subjective Infinitive Construction after verbs in the
Passive Voice are mostly translated by a complex sentence: its principal
clause is of the type which in Russian syntax is called ‘indefinite
personal.

The Subjective Infinitive Construction is used after:

a) The verbs of sense perception: to see, to hear, etc. These verbs are
used in the Passive Voice.

The rider was seen to disappear in the distance.

BugHo 65110, KaK BCafHUK CKPBUICS BHAJIM.

If a process is expressed Participle I Indefinite Active is used.
Tess’s father was heard approaching at that moment (Hardy).
B 9TOT MOMEHT OHM YC/IbILIaN, 4o nooxodum omey, Tacc.

b) The verbs denoting mental activity: to think, to consider, to know,
to expect, to believe, etc.

The people of all ancient civilizations are known fo have made
maps.

V3BecTHO, 4mo 100U BCeX fPEeBHUX LMBUIN3ALIL COCABIATU
KapThl.

c) The verbs denoting statement, supposition, reporting, etc.: to
report, to suppose, to prove, to turn out, to appear, to say, to seem; after
the constructions:

to be (un)likely - BeposiTHO, Ma/OBepOsATHO, BpAAL N

to be certain, to be sure - o6s13arTenbHO, HaBepHSKA.

Sentences of this kind are rendered in Russian by a simple sentence
with a modal word. Note the difference between:

He is sure to come. OH 006s13aTeIbHO NIPUTET.
He is sure of coming. OH yBepeH, 4TO NpufeT.
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She doesn’t seem to be interested in her specialty.

KaxeTcs, oHa He MHTEepeCyeTCs CBOEI! CIIeIaTbHOCTBIO.

The temperature is unlikely to fall these days.

ManoBepoATHO (BpsAf, /i), 4TO TeMIIepaTypa IIOHUSUTCA B 3TU
JTHIL.

NOTE: The infinitive refers to a future action after the verbs and
word-groups: to expect, to be sure (certain), to be likely.

We are sure to come at the heart of the matter.
Mout 06s13aTeIbHO dobepeMcs O CYyTH Jiera.
He is expected to give us an answer tomorrow.
O>XupaT, 4o oH 0actm HaM OTBET 3aBTpa.

Mind how to translate the verbs in the sentences with the Com-

plex Subject:

(he) is considered . . . — cunraror / cauraercs, 4to (OH) . . .

(he) is reported to . . . - mepepatoT / cO0OIIAIOT / COOOIIAETCS, UTO
(oH)...

(he) is thought to . . . — cunrator / gymarot, 4ro (oH) . . .

(he) is understood to . . . — Mo UMerOIMMCA CBefeHUAM (OH) . . . , CIN-
TAIOT / CYUTAETCS, ITO (OH) . . . , COTIACHO JOTOBOPEHHOCTH (OH) . . .

(he) is heard to . . . — umeroTcs cBefgenus, 910 (OH) . . .

(he) seems to . . . — Ka)KeTcs, 94TO OH . . .

(he) is likely to . . . - mo-BuauMOMY, (0OH) . . . , TOXOXe Ha TO, YTO
(oH) . .., IO BCeil BepOATHOCTH / BEPOSITHO, (OH) . . .

(he) happens (happened) to . . . - cny4aitHo (oH) . . . , CIyYNIOCH

TaK, 4To (OH) . ..

Task 1. Note the Complex Subject with the infinitive and the verb
it is used after. Translate the sentences into Russian.

1. He was seen to cross the street and turn round the corner.

2. He was made to eat a Chester cake and was spoken to in a slightly
more Edinburgh way than usual.

3. He is said to be one of the best students at our faculty.

4. She was reported to have been very faithful to her friends. She
knew everybody she wished to know and everybody was pleased to
know her.

5. When he recovered he was allowed to ski every Sunday.
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6. Her retirement was rather a tragedy; she was forced to retire
before time.

7. “Miss Brodie is ill,” said Miss Ellen. — “Yes,” said Miss Gaunt, “she
is expected to be absent for another week”

8. He always appeared to be so helpful on the committees, so
considerate.

9. His pockets turned out to contain nothing except a packet of
Turkish cigarettes, which he usually smoked.

10. He happened to be her brother-in-law.

11. He proved to be their devoted friend.

12. He seemed to know her thoughts.

13. Father and Dr Pearson are sure to get into one of their chess
games, and when they do that anyone else might just as well not be
there.

14. At any moment the boys were likely to be away.

Task 2. Paraphrase the following sentences using the Complex
Subject with the Infinitive.

a) 1. He marched out into the hall. She heard him lift the receiver
and give the number. 2. He did not expect her to write often, for he
knew that letter-writing came difficult to her. 3. He saw those three
return together from the other room and pass back along the far side of
the screen. 4. “Oh, I didn’t hear you come in” - “I came to see if I could
be of any help to you,” said Race. 5. A voice on the stairs behind made
us all start. 6. He made the boy take off his boots and stockings.

b) 1. It seemed that her dinner party went on too long to her, as it
did to you.

2. It seemed that she sensed the purpose of his question. 3. It seemed
that he did not notice that I was in outdoor clothes. 4. “It seems that you
know a lot of Robinson,” Tom Wells observed. 5. It was so wonderful to
see old George. It seems he needs a friend.

c) 1. It appeared that George was talking to Mr. Smiss persuasively.
2. “I don’t think you should blame yourself” It appeared that the man
had not heard. He went on as if in a daze. 3. When she passed by it
appeared that they looked at her attentively. 4. It appeared that they
were coming down when I left the room. 5. It appeared that he did not
see at all why he should explain his disappearance.

d) 1. It was likely that he had hidden my journal under his mattress.
2. It was unlikely that she would come across him by accident. 3. It is
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quite likely that a motor containing two boys has been noticed. 4. It is
unlikely that he will come and see us soon. 5. I think it is likely Peter
will make that mistake.

e) 1. It is believed that John has arrived in London. 2. It is known
that Jack is good at painting. 3. It is reported that the spaceship has la-
nded successfully. 4. It is believed he is clever. 5. They say that he is the
best teacher at our school.

f) 1. It happened that his father came. It was raining and he had not
been able to play golf, and he and Walter Fane had a long chat. 2. It
happened that everybody had taken the problem seriously. 3. It
happened that I saw them at the theatre. 4. It happened that I mentioned
your brother’s name. 5. It happened that I knew Eliza’s brother well.

Task 3. Analyze the sentences and translate them into Russian.

. Computers are likely (are certain) to be used in the study of UFO.
. The system seems to be functioning well.
. Mankind is sure to have entered the age of automation.
. Machine languages are known to be low-level languages.
. She appears to make progress in languages.
. He is known to study ancient architecture.
. It seems to be an exception to the rule.
. The new method of investigation is believed to have produced
good results.
9. Computers are thought to be divided into two groups according
to the jobs they perform.
10. The result is expected to agree with theoretical predictions.
11. She is known to have the best collection of pictures in the world.
12. They are thought to have been killed in an air crash.
13. He is sure to come. I saw him on my way to your place.
14. They seem to like their work at the exhibition.
15. The delegation is reported to have left for Paris.
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Task 4. Analyze the sentences with the Complex Subject and
translate them.

1. India appears to have been acquainted with iron and steel from
an early age.

2. A gram of water is proved to change exactly to a gram of ice when
freezing and to a gram of water vapor when evaporating.
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3. A sudden large supersaturation of the solution proves to cause the
precipitation of very line crystals.

4. Television is likely to become commonplace within the next few
years.

5.1t is pointed out that great advances in our knowledge of the lower
ionosphere are likely to occur in the near future.

6. It is reasonable to expect and it has been found in practice, that an
automatic computer is much less likely to make mistakes than a human
being doing the same work.

7. The moment a flame comes near the gas in the mines, the gas is sure
to explode. If it does explode, it will kill every one in that part of the mine.

8. Up to 1928 organic compounds were believed to be the products
of vital processes only, that is, the products of plant or animal organs,
therefore “organic”.

9. We see from Figure 2 that magnitude is an even Junction of
frequency and phase is an odd function of frequency, which always
turns out to be the case.

10. Solar installations have been reported to exist in many countries.
Some of these installations seem to be used primarily for experimental
purposes.

11. The theory of gradient-Doppler has been demonstrated to have
wide application and it is founded on already well accepted principles.

12. Bohr’s theory of atomic structure turned out to be extremely
fruitful in the explanation of various properties of atoms and
molecules.

13. The present era, which is distinguished by the utilization of
metals in enormous quantities, may be said to have begun in 1800.

14. The steam turbine, in a crude form is said to have been used
many centuries ago, but its development as a really practical form of
prime mover has only taken place during the last fifty years.

15. The majority of Gerick’s experiments on air pressure appear to
have been carried out between 1657 and 1662.

16. Guerick appears to have been working on the air pump in 1635
onwards.

17. Metallic aluminum seems not to be acted upon by air or water,
or many other chemical agencies.

18. There are crystals in which there appears to be two types of
interatomic attraction acting at the same time.

19. Acid solutions are preferable to alkaline ones as they are less
likely to give deposits of oxides or basic salts at the cathode.
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20. Goal is generally considered to have been formed in the earth
by prolonged action of geological forces and favorable biochemical
conditions on accumulation of vegetable matter under water.

21. Cosmic rays have been observed to end their paths from outer
space in violent nuclear collisions, the latter being known to take place
high above the earth.

22. Comparatively few of the elements prove to occur as uncombined
substances in nature, most of them being found in the form of chemical
compounds.

23. Cosmic rays have been shown to be a form of radiation similar
in nature to those of radio and light and differing from them only in
wavelength and penetrating property.

24. The complete elucidation of a reaction mechanism might be
expected to include a stereochemically complete description of the
movements of every atom throughout the reaction.

25. Many proposals for changing the traditional methods of storing
and searching for information have been made in the last decade,
and some of these have already proved to be of considerable practical
value.

26. There seems to be almost universal agreement that the traditional
methods of storing and searching for information are not eflicient
enough at the present time and will become less so in the future.

27.In the case of feeble magnets the magnetic field is so weak that it
may be considered confined to a small region near the magnet.

4. The for-to-Infinitive Construction

In the for-to-Infinitive Construction the nominal part (noun or
pronoun) is preceded by the preposition for.

It is translated into Russian mostly by a subordinate clause (c
cor3amm 4To0bl, s Toro 4TobsbI) or an infinitive. The type of clause
the for-to-Infinitive construction is rendered in Russian depends on its
function in the English sentence.

It performs the following functions.

1) Subject (often with the introductory it).

For the results to be reliable you must have them tested again.
7151 TOro 4TOOBI pe3y/IbTaThl ObUIN HaJJe)KHBIMM, BaM HYXHO X
IPOBepsTh CHOBA I CHOBA.
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It is for you to decide whether to come or not.
BaMm pematb, IpUXOANUTD MU HET.

2) Predicative

That was for him to find out.

BBISACHUTB 3TO [JO/XKEH OBITT OH.

The tendency was for the inflation rate to gradually decline.
TeHmeHIVA 3aK/TI0YA/IACH B TOM, YTO YPOBeHb UHPNAUUU TIOCTe-
HEHHO CHUMNAIICAL.

3) Complex Object

Erik saw that she was impatient for him to be gone (Wilson).
OpUK BUIET, YTO OHA C HeTepIIeHEeM OKIAeT, KOT/la OH YIifeT.
It’s quite possible for them to accept your proposal.

BriosiHe BO3MOXXHO, UTO OHU NpUMym Ballle pelleHIe.

4) Attribute

The best thing for you to do is to bide here with your load.
Camoe nrydl1riee, 41mo 6bt Moxcerne cOenamv, 3TO MOJOXK/ATH 3[1eCh
C Ballel] MOK/IaXKelt.

The best decision for us to make at the moment is to wait and
see.

CaMmoe nydliiee pelieHne, KOmopoe Mvl MO#emM NPUHAMD Ceifdac,
9TO MOCMOTPETD, KaK OY[yT pa3BMBaThCS COOBITHS.

5) Adverbial modifier:
a) Of purpose
He stepped aside for me to pass.
OH oTo11IeNT B CTOPOHY, 4M00bL 5T MO2NIA NPOLMU.

b) Of result

His experience of women was great enough for him to be aware
that the negative often meant nothing more than the preface to
the affirmative (Hardy).

OH ;0CTaTOYHO XOPOLIO 3HATI KEHILNH, 4100bl NOHUMAMb, ITO
0TKa3 GbIBaeT YaCTO JIMIIb IIPEABEPIeM COITACHsL.

With the expressions to be sorry, to be glad the infinitive is used only
if the subject of the sentence represents at the same time the doer of the
action expressed by the infinitive.
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I am glad (pleased) to have got a ticket for the concert.
I .am glad to have seen you (Dreiser).
In other cases a clause is used with to be glad and to be sorry.
I am glad you got a ticket for the concert.
“I am glad you think so,” returned Doyce, with his grey eye
looking kind and bright (Dickens).

Task 1. Analyze the following sentences and translate them into
Russian.

1. I am anxious for her to pass her exam.

2. He stepped aside for me to pass.

3. The text is too difficult for the students to translate.

4. It was unusual for him to go out in the afternoon.

5. He had made arrangements for mules and ponies to be ready for
me on my arrival. I waited for him to go on.

6. The table was small enough for the conversation to be general.

7. He was quite willing for his little daughter to be brought up in
England by her grandmother.

8. The most important thing for us is to start early.

9. She only had to express a wish for him to fulfill it if it was in his
power.

10. She did not say anything, but made way for us to pass.

11. He was so occupied in his research work that it made difficult for
him to be away from home for several weeks at a time.

12. T sometimes think it is a shame for people to spend so much
money this way.

13. That was for him to find out.

14. He asked for the papers to be brought.

Task 2. State the syntactic functions of the for-to-Infinitive
construction.

1. On the first occasion it was necessary for him to indicate his
requirements to her.

2. The top of this was covered with a thin layer of soil and coarse
grass and shaded with young trees. There was not enough soil for them
to grow to any height.

3. He waited impatiently for Eliza to go on.

42

4. There is nothing for you to do but leave at once.

5. The best thing is for you to do it now.

6. She spread jam for him and cut up the bread and butter into
convenient slices for the child to eat.

Task 3. Paraphrase the following sentences so as to use for-to-
Infinitive construction.

1. Sandy stood at the kitchen door waiting till Miss Brodie came for
a walk by the sea.

2. It is time that you should go, Tom.

3. There was nobody who she could speak to.

4. A peasant was walking wearily towards us, and we waited till he
came up to us in order to ask the way again.

5. Janet sat and waited till they went away.

6. She then sat down in Mrs. Anthony’s chair and waited till the
kettle boiled.

7. Was it possible that she could forget him?

8. Then she made her way to the kitchen where the tray had been set
by Mrs. Anthony and waited till Mrs. Pettigrew made the tea.

Task 4. Complete the following sentences using for-to-Infinitive
construction.

1. They waited at the door for (she)... . 2. It is necessary for (he)... .
3. There was no reason for (she)... . 4. It was obligatory for (they)... .
5. There were no friends for (he) ... . 6. There is nothing for (you) ... .
7. She played the violin for (they) ... . 8. It seemed strange for (they) ... .
9. It is desirable for (Pete) ... . 10. It is advisable for (they) ... .

Task 3. Analyze the sentences and translate them into Russian.

1. For Egypt to get anywhere near its growth target, it will have to
persuade Egyptians to save and foreigners to invest.

2. The rise of homeless emphasizes the desperate need for the
Government to fulfil its pledge to meet the problem with a lower rate of
interest for housing.

3. Although the Minister of Health yesterday did not accept the
conditions described astypical, the revelations madeithard for reassuring
phrases like « best in the world» and «tremendous step forward» to avoid
having a slightly hollow ring.
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4. In these circumstances the party leaders had no plan for the
Prime Minister to make a unity appeal when he attends today’s party
meeting.

5. An Atomic Energy Authority spokesman said it was not unusual
for one or two reactors to be shut down at weekends under normal
conditions. But in view of possible staff shortages it had been decided
to close down three.

6. And having made this guess, he thought it completely in order for
an MP to announce it, as if it were a hard fact provided by a government
official.

7. There is too much slackness in many key industries. Too many
employers complain of short order books and too many firms give
notice of redundancy for there to be any complacency among trade
unionists.

8. The report calls for the monarchy in the UK to become professional
and accountable.

9. Classification of political systems allows for qualitative judgments
to be made in relation to political structures and governmental forms.

10. A National Security Council official said last week that the NATO
theologians are codifying fresh visions for their favorite organization,
and the spin doctors see colossal opportunities for the president to
bestride TV screens.

11. Whilst we read the report with interest, any issues of constitutional
reform would be a matter for Parliament to decide».

12. The United States and Britain on Friday set a month-long
deadline for Libya to surrender two suspects wanted for the 1988
Lockerbie bombing.

13. For the reform forces to pull off a majority on council, all their
incumbents will have to hang onto their seats.

14. Mr. Tao says it would be «technically feasible» for the Hong Kong
government to declare overnight that all Hong Kong dollars held in
banks and in circulation would be converted into US dollars.

15. To say that the wages fight is not the only issue, or that higher
pay will not on its own solve the crisis, only emphasizes the need for
unions like the engineers’ to get stuck into the all-round fight for the
alternative strategy now developed within the movement.

16. The President was closeted in the White House today preparing
hisso called “Economic Renewal” package, as pressure from unemployed
millions across the nation continues to build for federal action to provide
jobs.
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17. Chips are harder for hackers to modify than software.

18. Elitists highlight the tendency for political power to be concentrated
in the hands of a priviliged minority.

19. In Japan, the ultimate way for a student to repay his teacher is to
beat him at his own game. And having learned so well from the West,
it is flattering to the Japanese to be told that the West may now have
something to learn from them.

20. For Europe to drive forward it needs leadership.

THE PARTICIPLE AND PARTICIPIAL
CONSTRUCTIONS

1. Forms and functions of the Participle

The Participle is a non-finite form of the verb which has verbal and
adjectival or adverbial features.

There are two participles in Modern English: Participle I and
Participle II traditionally called the Present Participle and the Past
Participle.

Forms of Participle I
Active Passive
Non-perfect discussing being discussed
Perfect having discussed having been discussed

Participle II has only one form.

Like the tense distinctions of all the verbals, those of the participle
are not absolute but relative.

Participle I Indefinite Active or Passive usually denotes an action
simultaneous with the action expressed by the finite verb; depending on
the tense-form of the finite verb it may refer to the present, past, or future.

Sometimes Participle I Indefinite denotes an action referring to
no particular time.
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The last turning had brought them into the high-road leading to
Bath (Hardy).
Participle I Perfect Active and Passive denotes an action prior to the
action expressed by the finite verb.

They were, indeed, old friends, having been at school together.
OHu u B caMoM [iente ObUIM CTapbIMU PY3bsMU, T. K. BMeCTe
YUUINCh B IIKOTIE.

NOTE: Participle I Non-Perfect is used with some verbs of sense
perception and motion (to see, to hear, to come, to arrive, to seize, to
look, to turn and some others) when priority is meant.

Hearing a footstep below he rose and went to the top of the
stairs.
Yenviuae mary BHUSY, OH BCTAJI U BBIIIETT Ha JIECTHULLY.

Participle II has no tense distinctions; it has only one form which
can express both an action simultaneous with, and prior to, the action
expressed by the finite verb; the latter case is more frequent.

I was reminded of a portrait seen in a gallery.
MHe BCIIOMHWICA TOPTPET, KOMOpuiii 5 6udend B KapTUHHOI
rajepee.

Translation:

a) Participle I may correspond to the Russian npuyacrtue gericTsu-
TeibHOTO 3ajora (ending in -wuii, -8wiuil: IMTAIOMIMNIL, CIICIIAIIVII,
YMTaBIINIL, CHemMBIINIT) and JeenpydyacTyie HeCOBEPUIEHHOTO BU/A
(ending in -, -a: unTas, cuema).

b) Participle II is translated by the Russian mpuyactne ctpagaTens-
HOTO 327107 COBEPIIIEHHOTO I HeCOBEPILIeHHOTo Brfia ending in -HHBIIL,
-eMblif, -UMBII1, -ThIii, also by mpuyacrtie, 06pa3oBaHHOe OT BO3BpPAT-
HBIX [JIATOJIOB: invented — 300peTEHHBIIT, 1300peTaeMblii, N300peTaB-
mniics, built - mocTpoeHHsI, printed — HanledaTaHHBII, etc.

¢) Participles formed from the verbs with prepositions require a
particular attention in translation into Russian.

The issues touched upon in the report are of great importance.
3amponymuie B JOK/Iajie BOIIPOCHI IMEIOT OOJIbIIOE 3HAUECHIE.
The lecture followed by discussion was a great success.

Jlexumsi, 3a Komopoii nocnedosano ooOCyxneHue, 6bUIa OYeHb
YCIIEIIHOI.
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Functions of the Participle

Both Participles I and II are used in the functions of
1) attribute

2) adverbial modifier

3) part of simple predicate

4) part of compound nominal predicate.

1) In the function of an attribute Participles I Indefinite Active and
Participle II can be placed in pre-position and post-position, i.e. they
precede the noun they modify or follow it.

The flowing water is always cool.
IIpomounas Bofa Bcernja pOX/IaiHas.
He answered through the locked door.
OH OTBeTNII CKBO3b 3AKPbliNy10 IBepPb.

The Participle in post-position as a rule has one or several
accompanying words.
Translation: by an attributive clause or Participle.

The building housing the University will soon be built.

3naHue, 8 Komopom 0ydem pasmew,amocs yHusepcumem, OyneT
CKOPO IOCTPOEHO.

The picture seen by you at the Art museum is really beautiful.
Kapruna, xomopyio év 6udenu B XyZoXKeCTBeHHOM My3ee, Jieii-
CTBUTE/IbHO IIPeKpacHa.

The method developed made it possible to achieve good results.
PaspabomarHuiii MeTOJ, TIO3BOJIVII JOCTIYb XOPOILNX Pe3y/IbTa-
TOB.

Participle I Indefinite Passive is very seldom used as an attribute.

There was one line being laid out to within a few blocks of his
new home... which interested him greatly (Dreiser).

Ero oueHb MHTepecoBaa IMHNA, KOWOPYI0 NPOKAAObLEATU B HE-
CKOJIbKIX KBapTa/aX OT €0 HOBOTO JIOMa.

Participle I Perfect Active and Passive is not used attributively.

Participle I in the function of an attribute cannot express priority;
therefore it often happens that when in Russian we have nmpuuactue
in English we find a finite verb. Such is the case with the Russian
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OeiicmeumenvHoe npuuacmue npouieduiezo epemeHu expressing priority;
it is rendered in English by an attributive clause.

TaTbsiHA, C BEMKUM pPABHOAYIINEM HEPEHOCUBUIAS [O TOTO
MTHOBEHVSI BCe IMPEBPAaTHOCTY CBOEI >KU3HMU, TYT, OfHAKO, He
BbITepIeNa, mpocne3nnach (Typrenes).

Tatiana, who had until that moment borne all the ups and downs
of her life with great indifference, broke down, however, on this
and burst into tears.

A clause, not a participle, is generally used in English even when the
Russian deiicmeumenvHoe npuuacmue npouieduiezo spemeHU expresses
an action simultaneous with that of the finite verb.

basapoB 3akypu TpyOKy 1 HOLOIIEN K AMILVKY, OMnpseasie-
my nourageit (Typrenes).

Bazarov lit his pipe and went up to the driver who was unharness-
ing the horses.

In many cases an attribute expressed by Participle I is detached,
i.e. it acquires a certain independence in the sentence; the connection
between the attribute and the word it modifies is loose. A detached
attribute is usually separated by a comma.

It was the entrance to a large family vault, extending under the
north aisle (Hardy).

9T0 6BLT BXOJ, B 60/IBIII0T (haMUIBHBI CKIETI, IPOCTUPABILIIACS
II07] CEBEPHBIM IIPUJIE/IOM XpaMa.

2) The Participle as an adverbial modifier.
Translation: by feenpuyactue, an adverbial clause or a verbal noun
with the preposition «pm».

Considered in isolation the example does not seem to be that
convincing.

IIpu usonuposanrom paccmomperuu (Ecnu paccmampusamo
U3071UPOBAHHO) STOT IIPUMeP He MPefCTAB/IACTC S TAKUM yOenu-
Te/IbHBIM.

NOTE: Participle II as an adverbial modifier placed at the beginning
of the sentence is translated by ‘impersonal clause’

Asked if the unification of the currencies is going to take place
already this year, the Central bank governor did not give a
straightforward reply.
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Ha eonpoc o mom, cocroutcst mi oObeAyHEHMe BalIOT YKe B
3TOM TOfY, YIpaB/sAoIuil LleHTpanbHbIM GaHKOM He Jaj Ips-
MOTO OTBeTa.

The Participle can be an adverbial modifier of:

a) time. If the action expressed by Participle I Indefinite Active is
simultaneous with the action expressed by the finite verb, the conjunc-
tion when or while is often used.

Turning slowly she went to her room.

MeneHHO n08epHY6ULLCD, OHA TIOIITIA B CBOIO KOMHATY.

While translating the article, he consulted reference books.

B mo epems kax oH nepesoousi crmamvio, OH TOTIb30BAICS CIIpa-
BOYHMKAMIL.

With some verbs of sense perception and motion, such as to see, to
hear, to come, to arrive, to enter, to seize, to look out, to turn and some
others, Participle I Indefinite is used even when priority is meant. In
Russian deenpuuacmue cosepuiertozo suda is used in such cases.

Anna... hearing his step, ran to the foot of the stairs to meet him
(Eliot).

AHHA .., ycnviuas e2o0 wiaeu, mobexana BHU3 IO JIECTHUIIE
BCTPEYaTh ero.

b) cause

Being of a more slender figure than Mr. Jarndyce, and having a
richer complexion, Mr. Skimpole looked younger (Dickens).

Tax xaxk Mucrep CkuMIoyn Obi1 cTpoiiHee Mucrepa J>kapH-
flajica ¥ TaK KaK IIBET JIMIIA y Hero ObUI JTydlle, OH BBITIALEN
MOJIOXe.

c) manner and attendant circumstances. In this function Participle I
Indefinite is mostly used.

My aunt was silent, again looking at her hands.
Most TeTst MOTYaa, pasr/isifiblBasi CBOU PYKIL.

d) comparison. In this function the Participle is introduced by the
conjunction as if or as though.

This was said as if thinking aloud.
9T0 6BIIO CKa3aHO TaK, KaK OY/TO OH [yMasl BCIYX.
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3. The Participle as part of simple predicate.
He has been reading it since 12 oclock.
OH uumaem ee c 12 yacos.

NOTE: In inverted sentences the Participle as part of a predicate
is placed at the beginning of the sentence. The sentences of this type
are often translated into Russian beginning with ‘object’ or ‘adverbial
modifier’ wit the ‘subject’ in the end.

Attached to the article are tables and graphics.
K crarpe mpumaratorcs TabmIst u rpaduKim.

4. Part of a compound nominal predicate.
Translation: by the verbs 6p1Th, cTath, etc. in their combinations
with nouns, adjectives, participles.

He seemed tired, but kept working.
OH Kasascs ycmanvim, HO npo0onxan paboTaTs.

5. Participial phrases as parenthesis.
Here we always find a participial phrase; a single participle is not
used in this function.

NOTE: They can be translated in different ways.

Summing up, we must point out the following issues.

ITo0600s1 umoeu, HeOOXORUMO BBIZEIUTH CIIEAYIOLIEe MOMEHTBI
(meenpuyacrue).

Ecnu noosodumv umoczu ... (HeotpezenenHasi popma I1aromia c co-
I030M «ecnm»),

ITodsedem umoezu ... (MOBENUTENBHOE HAK/IOHEHME).

Task 1. Note the time distinctions of participles I and translate
the sentences.

1. Taking his seat, he looked at his watch.

2. Lingering in the cold, he debated whether he should ride on to
the house.

3. Having heard the gist of the report, Mr. Smith did not dispute it.

4. Arriving at the station, she saw him at once, leaning against the
railing.
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5. Crossing that little empty room to the door, she thought, “It opens
inwards, I must pull it to behind me!”

6. Adrian, glancing round, suddenly saw Kate.

7. Jane, having slammed the kitchen door, stood waiting for Tom to
open it.

8. So thinking, he paused before his house door.

9. Hearing that the new Member would be at his headquarters all
the morning, the sisters started about eleven oclock.

10. About to sink into an armchair, he noticed standing before the
fire a tallish thin man with twisting dark eyebrows.

Task 2. State the functions of the Participle. Translate the
sentences into Russian.

1. There was stillness in the small intimate dining-room, broken
only by the subdued ticking of a Dutch clock upon the wall.

2. He handed the message to her, who read it, leaning towards a light
beside her.

3. He replaced used ashtrays on the table with fresh, and refilled
Dodo’s coffee cup, then the others.

4. Mr. Parker stood looking up and down.

5. Relocking the door, he glanced at the envelope.

6. Louise straightened her handbag, searching for her pencil.

7. Puzzled by the dim light, Sanders turned his attention to the
inshore areas.

8. Daisy took her face in her hands as if feeling its lovely shape.

9. Two little boys carrying toy airplanes stopped dead, examining
her dark eyelashes resting on her cream-colored cheeks.

10. Presently he came to a standstill, with his hands deep plunged
into his pockets.

11. There was stillness in the small intimate dining-room, broken
only by the subdued ticking of a Dutch clock upon the wall.

12. She always became impatient when asked to define a word of
whose definition she was not sure.

14. She had no photographs of herself taken since her marriage.

15. You could have passed me by unnoticed.

Task 3. Replace the attributive clauses by phrases with Participle II.

1. Alan who was greatly surprised answered, “That’s right.”
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2. She who was astonished, stared at Peter, and then looked the other
way.
3. He looked back at the large car that was parked at the road side,
already ten yards away.

4. One of their drivers who were brought by Gordini came over to me.

5. Arthur had brought two wildly excited friends who were called
Tom and Nigger, for Barney and me.

6. One day she found a letter which was slipped under her door.

7. An hour and a half ago they had had a late dinner here, which
was delivered from a service restaurant on the apartment block’s main
floor.

8. John had enormous black eyes which were framed in velvety
lashes and eyebrows.

9. Jane who was greatly surprised to see her son here looked up.

10. Eliza who was excited by his words moved along the street.

Task 4. Find the Participle, analyze its form and function and
translate the sentences into Russian.

1. People beginning to study languages often say that it is difficult to
memorize words.

2.If frozen, water becomes ice.

3. The method used depended on the material selected.

4. In England the weight of luggage allowed varies with different
railways.

5. Being shown this manuscript, he said that it belonged to the fifth
century of our era.

6. Having been written, the translation was given to the teacher.

7. When read, this novel will be returned to the library.

8. Having solved the main problem, the scientist made a report on
his research.

9. Having been written, the letter was posted.

10. This much-praised man proved to be a rogue.

11. The man was picked up in an almost dying state.

12. Her spirit, though crushed, was not broken.

13. When reading The Pickwick Papers, one can’t help laughing.

14. They were, indeed, old friends, having been at school
together.
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Task 5. Translate the sentences with the Participle as an attribute.

1. The procedure adopted has so far been applied mostly in the field
of trading agreements.

2. Theactual price of labor power — the actual wages paid is influenced
by supply and demand.

3. The most typical approach among Establishment economists is to
find specific “errors” committed by businessmen as the causes of each
cycle; the remedies offered are similarly specious.

4. In the United States, for years, additions to proved reserve of oil
just about equaled reserves utilized. The chief services rendered by the
savings banks are the safekeeping of individual savings.

5. In addition to the executive departments, there are numerous
independent agencies charged with specific functions.

6. Electronics has become a major industry, employing more than a
million people.

7. About 14 percent of the population is below the poverty line
established by the federal government.

8. In the United States the term «college» refers to an institution
requiring Secondary School certificate for admission and granting a
degree after four years of study.

9. Today, almost 54 percent of all women of working age are
employed.

10. Wages are determined basically by the real cost of the commodities
required on average to keep the worker and his dependants.

11. In all the other operations - insurance, sale, and mortgage -
market appraisal conducted by independent experts is used.

12. The spokesman for the State Property Committee points out
that a number of legislative acts regulating the sphere of real estate are
currently being prepared.

13. The increase of import duties on food products imposed on July
could also push inflation.

14. Last week, new state liabilities known as federal loan bonds
appeared on the stock market.

Task 6. Translate the sentences using the Participle as an attribute.
1. Mapu cenra Ha ynaBIIuI CTBOJ iepeBa.

2. OpkecTp Ha 9KpaHe TeJIeBU30pa B TOCTMHOI VICIIONIHAT MY3bIKY
Mouapra.
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3. leTut uTpajM B pa3pylIeHHOM KOTTEKe.

4. Tam 6bUIO IIECTb KOPOOOK, TYrO 3aBEPHYTBHIX B CTapble rase-
THI.

5. OHa moyoIIa K NMCbMEHHOMY CTOJTY U BBIHY/IA 3alledyaTaHHbIN
KOHBEpT.

6. YKeHmuHa BpIIIa 3 Mara3uHa U IOLUIA K MallfHe, OCTAB/IeH-
HOII Ha CTOSIHKE YyTh HIDKE I10 Y/INILIE.

7. BepHYBIINCH B KOMHATY, OHa II03BOHIIA IO TeneOHY.

8. YIaBIiye TUCThsA CHOKOIHO JIeKa/y B IPYHY.

9. OCTaBIINCD OVH, S OTIANENICA.

10. 3acTUrHYTbIE BPACIIJIOX, OHM He 3HA/IM, YTO CKa3aTb.

11. Y MeHs 6bUM cBOM COOCTBEHHbIE OIpefe/IeHHbIe B3I/LAMBI Ha
Moe Oypayliee.

12. B xopo6ke ObIIO HECKONIBKO HEraTMBOB, CBEPHYTHIX B TYTO
BUTOK.

Task 7. Translate the sentences into Russian with the Participle as
an adverbial modifier.

NOTE: In this function the Participle is rendered in Russian by
adverbial clauses, oeenpuuacmmuoiii o6opom or verbal nouns with the
preposition «npu».

1. Compared with what had gone before the tempo of development
became exceedingly rapid.

2. Located at the company’s headquarters in the United States, the
regional manager traveled to Europe frequently.

3. Confronted with rapid changes and increased uncertainty
in their business around the world multinational companies have
developed a more analytical framework to facilitate complex
decision-making.

4. Because of the general rise in family incomes, factory workers,
owners of small business, school-teachers and sales personnel can be
found living together in the same suburban communities, in homes
very much alike.

5. Attracted by visions of profits and playing a role helping to build
a better nation, they also voted for state and local taxes to support the
railroads.

6. But these precious metals were in short supply, having been sent
abroad, to pay for imports.
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7. Faced with the growing size of their enterprises, many companies
have responded by decentralizing management of domestic as well as
international business.

8. Similarly, new farming technology has transformed the American
agricultural sector, allowing more food and fiber to be produced by a
constantly dwindling number of farmers.

9. Based upon the above assessments the company identifies major
future opportunities and problems in terms of regions and countries.

10. In the beginning in 1870 and lasting for around a century, the
U.S. became the world manufacturing power-house leading the world
in the production of steel, automobiles and other products.

11. Added up, the deficit picture seems less than bright to those
counting on a strong fiscal stimulus.

12. The cognition of economic laws is not an aim in itself; when
recognized laws are applied in practice.

13. Granted that economic decisions are centrally planned, should
such decisions be guided by economic indices based on market prices?

14. Given the wide range of possibilities, variations among countries,
and other factors, multinational companies face many complexities
with financing.

15. Faced with a balance of payments problem, any government tries
to list its order of priorities.

16. Financed jointly by the federal government and each state’s land
grant colleges, the service hired agents to establish officers in each local
governmental district to provide advice to farmers.

Task 8. Replace the clauses by the appropriate form of Participle I
where possible.

a) Attributive clauses

1. I've got my lunch which was waiting for me here.

2. He pointed to the vessel which was lying at the wharves.

3. I went to the hall for a look, and swallowed something that had
wanted to be swallowed for ten minutes.

4. The man who bent over her is her director.

5. “That’s good, and where is Jennie?” The latter, which had been
ironing, had abandoned the board and had concealed her in the
bedroom.
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6. Philip, who was smoking a cheap cigar, observed him closely.

7. Jack almost dropped the leather bag on which he had been
writing.

8. Peter seated himself in a leather chair which faced the desk.

9. Stephen, who had been listening to the unspoken speech behind
the words, said nothing.

b) Adverbial clauses of time

1. When he said so, he grasped the map firmly with both hands.

2. When he hailed a taxi, he got in and told the driver to drive to
Oxford Street.

3. Hoyden nodded when he took another chocolate cookie.

4. Edward walked to the edge of the verandah and when he leaned
over he looked intently at the blue magic of the night.

5. When he bowed to the Chairman and pushed back his chair, he
walked doggedly to the door, opened it and passed through.

¢) Adverbial clauses of reason

1. She moved away as she felt slightly embarrassed.

2. He got a seat rather far back in the upper boxes, but as his sight
was very good, he saw quite well.

3. As she did not know whether he had seen his brother or not, she
did not know how to answer.

4. She stared back, as she did not know what to do.

5. Then I walked slowly down the drive away from the house as I
intended to wait by the gate.

Task 9. Use the appropriate form of Participle I of the verb in
brackets and translate the sentences into Russian.

1. Poirot and I behaved in the customary fashion of people (to show)
over houses.

2.1 felt a bitter envy towards the two small boys (to walk) along the
path.

3. (To greet) her, he turned the key in the only door with a certain
skill.

4. (To have) tea she went early to Victoria Station.

5. There was a noise of curtain-rings (to run) back along the rods,
of water (to splash) in the basins.

56

6. She had a pale face and dark hair (to turn) grey.

7. (To pick up) his coat, he walked on into the field.

8. The dog Balthazar (to walk) round the three small flower-beds,
had also taken a seat in front of old Jolyon.

9. He and Soames stood in the drawing-room (to wait).

10. Not for one moment did he show surprise at the wedding gift (to
present) to him personally.

11. (To dry) his hands Tom came across from the washstand.

12. The major was at the telephone (to sit) on a box.

13. She had a hand on his shoulders and was including herself in the
pictures (to take).

14. He crossed the room to the long buffet. (To stand) beside the girl
he picked up a sandwich. Then, (to turn) and (to speak) nervously and
with an effort he said, “I say, do you mind if I speak to you?”

15. (To think) this, with some comfort, she fell asleep.

16. (To see) Fleur and his grandson off to the sea that morning, he
felt flat.

Task 10. Translate into English using Participle I in the function of:

a) An attribute

1. OH cMOTpesT Ha Ma/IbuMKa, CUZEBILEro Ha CTysie B cafy. 2. Mabuuk,
KOTOPBIiT CUfIETT HA CTY/Ie B Cafly, YIen oMot 3. «YUTo cmydmnoch?» —
CIIPOCHJI OTell, YC/IBIIABILNIA IITYyM U3 cOocefiHell KoMHaTbl. 4. TaHs, I/1a-
muBLIAs Oebe HA KYXHe, yIUIA B TOCTUHYI0. 5. OHM BBIIUIM Ha IOPOTY,
KOTOpasi Bena B 7iec. 6. Ee romoc 6bU1 Kak ) ypyanmit pydeek. 7. OHM xu-
M B JOMe, KOTOPBII KOTZia-TO IpUHaIeXas ee 6adyke. 8. OH mpucoe-
mvHncA K Ilere, koTopblil cTosAn y roctuHunbl. 9. OH paccKasbiBal O
KOMHare, B KOTOPOI1 K1 B TedeHue psApa eT. 10. OH cMoTpert Ha iofiel,
KOTOpbIE IPOXOAN/IN MUMO €ro foMa. 11. JIKeilH cMoTpena Ha yBAfLINe
pacTeHus1, KOTopble pocin y cTeHbl. 12. OH yB/Ie4eHHO paccKasblBal O
rOpOfiaxX, B KOTOPBIX €My YAa/I0Ch TOOBIBATb.

b) An adverbial modifier of time

1. OH He3aMeTHO 3ajipeMarl, CUJif B Kpeciie Moji fiepeBoM. 2. Boiina
B KOMHaTy, OHa Cpa3y ke yBujena TaM Toma. 3. 3aKpbIB iBepb, OH I10-
Jiolren K MMCbMEHHOMY CTOMY. 4. f1 CHOBa BCTpETHII eTo Ha Kopabie 1o
BO3BpallleHNM JOMON. 5. 3aKpblB TUXO [Bepb, OH BBbILIEN B Caj.
6. B3riaHYB Ha 3aKpBITYIO [BEpPb, MOJIOZION YeTOBEeK MOJOIIeT IT06/IN-
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xe. 7. Korma on 6puics, oH BAPYT BCIIOMHII, YTO OHA Ha3Basa CBOIO
feBr4bio pamimio. 8. OHM BOIIM B KOMHATY, TPOMKO PasroBapyBasi.
9. CHAB cTapoe IUIaTbe, OHA Hagena Hosoe. 10. [locMoTpes BHM3, OH
YBUJIENI CBOETO ChIHA C IPY3bAMIA.

¢) An adverbial modifier of attending circumstances

1. Ilopoiinsa K 3epKany, OH IOCMOTpeN Ha cBoe Mu1o. 2. OH BbIILET,
cTapasich He 6eCIIOKONUTH CBOETO ITeMsHHMKA. 3. C)XaB IyObl, OHA KUB-
Hy/a B 3HaK cornacus. 4. OH CTOAT HEMOJBIDKHO, 00/TIOKOTUBIINCH Ha
cron. 5. OH CIIOKOJHO JIeXas, AyMas O IPefCTOAIell KOMaHIMPOBKe
Ha KaBkas. 6. OH Bo1en B KOMHaTY, Hecst Kode i Enener. 7. O Morn-
YajI, OKMZas, KOrga MajbuMKy YIAYT 13 KoMHAtTel. 8. OHa cupjena y
OKHa ¥ CMOTpena Ha ymuity. 9. OH cTos/I He3aMedeHHbIM, Habmozas 3a
Ma/Ib9MKaMM BO IBOpe.

Task 11. Use the proper form of Participle I or II.

1. It was a windy day, and the air on Little Dorrit’s face on
brightened it (to stir) (Dickens).

2. He took a strip of paper from his vest and gave it to the
reporter (to fold).

3. There was one bright star in the sky (to shine).

4. He reminded you of a sheep aimlessly hither and

thither (to frighten, to run).

5. At one end was a group of beautiful women exquisitely ,

diamonds on their heads and bosoms (to gown, to wear).

6. Maxim stooped, and picked up a petal and gave it to me
(to fall).

7. She remained silent it but her silence was like a question
in the dark between them (to hang).

8. With eyes he leaned back on the bench (to close).

9. We walked down the hall and down the wide thickly stairs
(to carpet).

10. There were candles on the table (to light).

11. There was a long line of trucks and carts on the road
up the bridge (to abandon, to lead).

12. A tall, thin man with a sharp pointed face sat at a table ____ for
dinner (to lay).

13. The voice had something in it (to appeal).
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14. There was a balcony along the second floor by the colu-
mns (to hold up).

Task 12. Translate the sentences into English using Participle I or
IT where possible.

1. OH OCTOPOXXHO CeJl Ha AMBaH, KOTOPbIiT ObIT HAIPOTUB OydeTa.
2. 3aKpbIB 32 Hell ABEPb, OH BEPHYIICA B CBOIO KOMHATy. 3. OHa emie pas
II03BOHN/IA, 3aTauB AblxaHue. 4. [TouenoBas feTell, OH yIuen Ha pabo-
Ty. 5. Ero npsiMble YepHble BOIOCHI, 671ecTeBIINe OT Mac/a, Opuin 3a-
YyecaHbl Ha3a[. 6. BbIlifis M3 MalllMHbI, OH BOLIENT B KOPMYHEBOE KaMEH-
Hoe 371aHue. 7. I xo4y, 4TOOBI BBI OIIATDH MOC/TYLIAIA MY3BIKY, KOTOPYIO
MBI BM€CTe CIyIIaau Ha KoHLepTe. 8. Eif 04eHb MOHPaBUICA KOCTIOM
IJ1A OXOTBI. 9. Moogoit 4enoBeK, IOCMOTPEB B TY U APYTYIO CTOPOHY,
nposogun JI>keitH B KoMHary. 10. OHa nmpucranbHO MOCMOTpeNa Ha
JKeHy JI)keka, KoTopas cTos/la B IleHTpe KoMHaThl. 11. IlocMoTpeB Ha
Toma, KOTOpBIl CIOMajn CBOK WIPYLIKY, OTel, IOKadaja TOIOBOIL
12. OHu gouumm 1o OBEpU U CTOAMU TaM, pasropapubad. 13. OH yka-
3aJI maJIbIeM Ha XKEHIINHY, KOTOpas CTosa y MeTpo. 14. IIpnubnmsns-
HIJCh K IIEHTPy TOpoja, OH OCTAaHOBWICA y aBTOMaTa M ITIO3BOHMI
Munnn. 15. OHa nofHANMa KHUTY, KOTOPYI0 YpOHMIA Ha mof. 16. On
B3sIJI CTAKaH, U3 KOTOPOTo mus ero 6pat. 17. OHa mocMoTperia Ha ero
MIOHOIIEHHBIN KOCTIOM. 18. Momnogas »KeHI[MHa Ka3aaach ICITyTaHHOIL.
19. Korza ee monmpocumy, oHa fiana cBoit agpec. 20. bonpias ykpamieH-
Has HOBOTOfIHAA €/IKa 3aHMMaja BeCb YTrol KOMHATbl OKOJIO POJIA.
21. OH 3aMeTHJI, YTO OHA IIOKPACHeIa U BBITTIAMENa CMYIeHHOI. 22. B
ero rojioce Bce ellje ObITa HeYIOBIETBOPEHHOCTb. 23. IT0 ObIIa Xyfas
JKEHIIHA C Oe/IbIM MIIOM M KpalleHbIMU Bormocamu. 24. [laiite um
MO TesedOH, ecmu Bac MOmpocAT. 25. Y ero msau ObUI CTapUHHBIN
npyr o umenn Tom, kotopsiii >kxu B JIongone. 26. OHa mocMoTperna
Ha HETO MCIYTaHHBIMI I7Ta3aMM U BBIIIIA 13 KOMHATbI, HIYETrO He CKa-
3aB. 27. Korpa k Helt 06paTnmich, OHa IIOKa3ajIa HaM CaMblil KOPOTKIUI
OyThb K BOK3any. 28. B ero romoce sBy4ano pasouaposanue. 29. Mosa
Mama Obl1a OJHOV 13 YeThIpeX JKeHIINH, CUIeBIINX 3a ctoioM. 30. Ha
CIIefyIOmNIi IeHb Mbl OTIIPaBUMICD II0 afpecy, KOTOPbIii Jal HaM I0K-
top. 31. Korza A mogpommen K MMCbMEHHOMY CTONY, A OOHApYy>XWU/I Ha
HeM 3alleyaTaHHbIN KOHBepT. 32. OH cMor 6bI cientaTh Topaszio 6onblire
IS Bac, eci ObI OH OBUI JTydille MHQOPMIUPOBAH.
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NOTE:

In English the combination of a noun and a participle is more
common than in the Russian language. E. g.: the combinations like
the letter (statement, resolution, etc) saying (urging, informing, etc.) are
mostly rendered in Russian as: nucomo (3asenenue, pesontoyus u 1. 11.),
8 Komopom 20sopumcs (mpebyemcs, co0OU,AEMCA U T. 11.).

Task 13. Analyze the sentences and translate them into Russian.

1. Physics is a broad science that deals primarily with phenomena
involving the transformation of matter and energy.

2. The stability of the compound being formed must be considered.

3. Hydrogen is the lightest substance known.

4. Different forms of magnetic circuits can be employed, depending
on the material used, results desired, cost and other factors.

5. Almost every new material studied has to be given special
consideration and often investigated by a special method.

6. Words have the common property of changing their meaning
with use, and the terms used are no exception.

7. Tt is hoped that the theoretical background given will be
adequate for the purposes of those readers for whom the book was
written.

8. The type of complex reaction having been the object of numerous
investigations will be discussed in more than usual detail as it illustrates
anumber of methods of handling complex reactions that may be applied
to other cases.

9. It is to be emphasized at the outset that no equation of any sort
may be written unless the formulae for all substances reacting and the
products formed are known.

10. The theoretical treatment given is based entirely upon the
methods of statistical mechanics, since this seems to be the only rational
procedure.

11. The Chinese written characters, known to have been in use for
the past three thousand years, were originally rude pictures, as of men,
birds, horses, dogs, houses etc., and it is still possible to trace in the
modified forms of these characters more or less striking resemblances
to the object intended.
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Predicative constructions with the Participle

Participles I and II can be used in the following predicative
constructions:

1) the Objective Participial Construction;

2) the Subjective Participial Construction;

3) the Absolute Participial Construction.

2. The Objective Participial Construction

The Objective Participial Construction is a construction in which
the participle is in predicate relation to a noun in the common case or a
pronoun in the objective case. In the sentence this construction has the
function of a complex object. It usually corresponds to a subordinate
object clause in Russian introduced by the conjunctions xak, umo,
4rmoo6oL.

The Objective Participial Construction may be found after:

a) The verbs denoting sense perception: to see, to hear, to feel, to find,
etc.

We watched boats sailing by and listened to the birds singing.
Mpb1 Hab/mIOaN, KAK MUMO NPON/Ibl6AU TONKY, Y CITYLIA/IN, KAK
nesu TITUILIBL.

b) The verbs denoting wish: to want, to wish, to desire. In this case
mostly Participle II is used.

The father wants everything done quickly.
Orer xoueT, 4mo0vi 8ce ObL10 cOenamo Ovicmpo.

c) The verbs to have, to get. After these verbs Participle II is used.

I had my coat altered.
S nepedenana nanvmo (1. e. HOpy4nmIa KOMy-TO IepefieNaTh €ro).

d) The verbs of mental activity: to consider, to understand.

I consider myself engaged to Mr. Brown.
S caurato ce6s nomonsnenHoi ¢ Muctepom bpayHoM.
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Task 1. Point out the Complex Object with the Participle and
translate the sentences into Russian.

1. I heard him moving about, and presently he was back with some
hot soup.

2. Shall we have Neville brought down to say good night?

3. When Mary opened her eyes she saw Nina standing by her side.

4. Simon shortly found her having coffee in the sitting-room.

5. She felt her cheeks blushing a little.

6. I noticed Tom Wells standing in the shadow of the fountain.

7. She liked to watch him doing things, digging, planting and
trimming.

8.1 am not accustomed to having my word doubted.

9.1 want my head examined for making this dangerous journey.

10. “Do people have their own photographs taken?” said Paul.

11. I want Jane and her husband moved into one of the new houses
on the hill.

12. Eliza, as she did on most days, had coftee and a sandwich sent in.

13. He also kept his hair dyed black.

Task 2. Translate into English using the Complex Object with
Participles I.

1. I Bupiena, Kak BbI IIPO€Xa/Iy MUMO HAIIETO IOMA B CBOET MAllIHe.

2. 5l 3ameTn, KaK OHa BXOfiM/Ia B KOHANTEPCKYIO.

3. OHa OTKpbIIa OKHO U HaO/MIOfaIa, KaK ee AeTy UTPalu BO IBOpe.

4. OH 4yBCTBOBaJ, KaK MaTb ITIaJiijIa €70 PYKY.

5. OHy Bujeny, KaKk ee MaTh XOAWIa B3aJ] M BIIepef 10 KOMHATe.

6. OH 9yBCTBOBAJI, KaK Y HETO IPOKaly PYKIL.

7. VaurenbHuIa HAO/IOfaa, KaK e TV BXOMVIN B LIKOTY.

8. O Hamrern ee Ha IIaTopMe B OKUAAHUY TOE3/IA.

9. OHna crpllana, Kak ee My>K Ts)KeTO CITyCKaJICA IO JIECTHUIIE.

10. Korzma [I>xek yBupern, Kak Tom mepecekasn yauily, OH IOMaxas
€MY PYKOIL.

11. MHe npuuuIoch NpoXXAaTh ABa 4aca B OObHUIIE, YTOOBI 3a-
10M6MpOBaTh 3y0.

12. 41 cnplmar, Kak B CBA3Y C 3TUM YIIOMUHANIOCh €T0 UM

13. OHa c myMoM 3afBUHY/IA AUK CTONA.

14. 51 ocTaBMII >KeHy BIIOTTHE 0OeCIIeYeHHOI.

15. Bce aT TObI A XpaHWI X IMChMa MIOJ, 3aMKOM.
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16. OH 6bUT IIOJIOH PEIIVMOCTY 3aCTAaBUTD yBaXKaTh CeOsl.

17. 51 He MOT [OIIYCTUTD, YTOOBI MOETO €JVHCTBEHHOTO CBIHA JIC-
KJTIOUVIN Y3 KOJUIEKa.

18. Korza oHu IOAOLUIN K TOMY, OHY YBU/IE/IU OCTAaBJIEHHBII IIepert
HVM «OBIOVK».

19. Tl MOT ObI JOOUTHCS, YTOOBI €T0 YBOININ.

20. Emy 6b110 OCAaZHO, KOT/ja OH YC/IBIIIAJ, YTO MM €rO >KeHBI
YIIOMMHAETCSI B pasTOBOpe HE3HAKOMbIM YETTOBEKOM.

21. OH cKasar eif, YTO HeJIb3s1 3AIIOJTHUTH OJIaHK Oe3 IIpefiBapyUTe/Ib-
HOTO 3asIB/ICHVISL.

22. Ecnu GBI OH cHenas 3To, OH MOT OBl OKa3aTbCs OTPE3aHHBIM OT
CBOEN CEMbM.

23. 5l 3Has1, 4TO MOTY eMy IIOMOYb, TO/IBKO e/ Oyy Aep>KaTb sI3BIK
3a 3ybamiL.

3. The Subjective Participial Construction

The Subjective Participial Construction is a construction in which
the participle (mostly Participle I) is in predicate relation to a noun in
the common case or a pronoun in the nominative case, which is the
subject of the sentence.

Translation: a complex sentence is generally used; the principal
clause is of the type which in Russian syntax is called “indefinite
personal” (cnvuumanu / sudenu/ 3amemunu, umo . . .). The peculiarity of
this construction is that it does not serve as one part of the sentence: the
nominal part serves as subject; the participle is the part of compound
verbal predicate.

The construction is used after the verbs of:

a) Sense perception (to see, to hear, to watch, to notice, to feel);

Several boys were seen riding on horseback across the field.
Bupenu, xax Heckomvko Manv4ukos exany depes IOJe BEPXOM
Ha JIOIIA/I.

b) Mental activity (to find, to understand, to show, to keep, to
consider, to regard).

The farmers are considered (regarded) as doing it.
Cunralor, 4To pepmepui 0enaiom sTo.
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Task 1. Analyze the sentences with the Subjective Participial
Construction and translate them into Russian.

1. The car was seen moving fast along the street.

2. Through the open window a piano was heard being played.

3. He is in hospital and his condition is reported as being very
erious.

4. A score of young heads were seen peering out of the narrow
window.

5. When the car was heard approaching, the people fled anywhere
to avoid the police.

6. In his novel she is shown doing a lot for other people.

7. Soon she may have found the note because she was seen looking
through the magazine.

8. When I rang the bell, a dog could be heard barking in the hall.

9. In his talk with my father the visitor was heard mentioning some
accident.

10. She was seen listening to him trying to catch every word.

11. The painter was found putting the finishing touches to a picture
of a beggarman.

12. The beggar himself was seen standing on a raised platform in the
corner of the studio.

13. Clare’s footsteps were heard crossing the room.

Task 2. Translate the sentences using the Complex Subject with
the Participle.

1. Bupenu, xak oH 1en no Kpachoit nnomaamn.

2. Bupenm, Kak Takcu >KJao KOTO-TO Y IObe3/a.

3. Bugenu, kak OHM IOJHMMAJIUACD IO JIECTHULIE.

4. Bupienu, Kak MajIbuMKY U3 HalIell IIKO/Ibl UTPAIN B KPUKET.

5. OTH MOXKWIIbIE IOV )KMBYT BHU3Y, Y MHOT/IA C/IBIIIHO, KaK OHM O
YeM-TO Pa3TOBAPUBAIOT.

6. Ciplmany, Kak JI)keliH OTKpbIBaa IBepb.

7. Bupenu, kax JI>xeliMC CTOSITI OKOJIO MUCbMEHHOTO CTOJIA U IIPO-
CMaTpPUBAJI KaKO-TO XKy PHaJL

8. CrpImiany, Kak OHa Iejia B COCeqHell KOMHaTe.
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Task 3. Analyze the sentences with predicative constructions and
translate them into Russian.

1. All three governments, pleading national budget austerity, have
refused to permit any rise in over-all EU spending above a controversial
financial ceiling.

2. Tackled over the government’s promise to maintain and improve
the quality of education the Education Secretary admitted the cuts
would leave gaps in schools timetables but hoped schools would help
each other.

3. They wanted a Government freely chosen by the will of the people.

4. He said that the strike movement may turn into a national strike
bringing about the downfall of the dictatorship.

5. Unfortunately the point of view of this politician is becoming
increasingly widespread in the Western press. This is why it seems
expedient to review some of the arguments put forward by those
opposing the idea of such talks.

6. Opening a new session of Parliament, he disclosed that the regime
intends to introduce legislation providing for preventive detention even
when there is no official State of Emergency.

7. The peoples of all countries are vitally interested in seeing further
steps taken at the Foreign Ministers’ Conference in October.

8. Being monopoly dominated the most powerful of all industrial
countries, the United States pushed inevitably ahead for world mastery
with every available means at its command.

9. Considering the complexity of the problem, the decision was
reached at a rather early date.

10. Not satisfied with the plans for the creation of an independent
anti-fraud office, which could take months or even years, the Chancellor
of the Exchequer calls for the speedy appointment of an independent
fraud-buster within the commission’s existing antifraud squad.

11. The Belgrade Children’s Hospital in South London now faces a
threat to close all the beds, meaning that the only children’s operating
theatre in the district will shut down despite recent modernization.

12. The main reasons given were the large amount of work
commissioned by the Government and the need to be satisfied that
future changes in fees were consistent with PI.B. (Prices and Incomes
Board) policy.

13. Those who opposed the ‘showdown’ in the State Department - a
small and not very influential group at the time — saw their viewpoint
being taken increasingly into account by the White House.
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14. Taiwans jobless rate fell to 2.97 per cent in January as
economic growth remained strong enough to avoid the skyrocketing
unemployment seen in most of Taiwan’s neighbors.

15. This would also determine the agenda of the meeting referred to
in a general way by him.

4. The Absolute Participial Construction

This is a predicative construction in which the Participle stands in
predicate relation to a noun in the common case or a pronoun in the
nominative case. The noun or pronoun never performs the function
of the subject of the sentence. Sometimes the first element may be
expressed by “there”. This construction occupies a detached position in
the sentence.

NOTE: It is generally translated into Russian by means of an
adverbial clause. When placed at the beginning of the sentence the
conjunctions «mak Kax, HOCKOMbKY, K02da, Kax mosvko, ecnu» are used,
and the Participle becomes the predicate of the clause.

The room being too small, we moved into a larger one.

Tak xak (nockonvky) ama ayoumopus 6vi1a CIUUKOM MAneHbKO1,
MBI TIepellI B APYIYIO.

The work done, we were paid right away.

ITocne mozo kax paboma Ovina cOenana, ¢ HaMU TYT Xe
PaccunTaNNCh.

There being too many applicants, the interviews were split into
two days.

Tax kax 6vi710 CIUUKOM MHO20 npemeH0eHmos, CobeceToBaHMs
IPOBOAMINCH B TeUEHNE ABYX JHEIL.

Weather permitting, the expedition will start tomorrow.

Ecnu nozoda no3eonum, SKCIe[ULNS OTIPABUTCS 3aBTPA.

The Absolute Participial Construction at the end of the sentence
is translated by an adverbial clause with the conjunctions “npu amom,
npuuem, u, a”. The Participle is rendered as the predicate of the clause.

All the athletes were accommodated in the Olympic village, their
coaches staying in the same blocks.

Bcex crioprcMmeHoB pasMecTiin B ONMMMIINIICKOI ilepeBHe, npu
31MOM UX MpeHepbl HAXOOUIUCL 6 MeX He KOPNYcax.
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The Absolute Participial Construction may be introduced by the
preposition “with”. Then itis called the Prepositional Absolute Participial
Construction. In most cases this construction is translated by means
of a coordinate clause or “Oeenpuuacmmuoiii o6opom”. The preposition
“with” is not rendered in Russian.

We stopped for a few minutes, with our guides continuing to pack
the equipment.

MBI OCTaHOBW/IVCH Ha HECKOJIBKO MUHYT, d HAWU NPOBOOHUKU
NpoOONHATIU YNAKOBIBAM CHAPSANEHUE.

Task 1. Analyze the sentences and translate them into Russian.

1. With everyone asking “What sort of European Commission do
we want?” it was hard not to ask simultaneously “What sort of Europe
do we want?”

2. With his impeachment trial over, the US President has found
himself more easily able to involve himself in foreign policy.

3. With the economy booming and incomes finally beginning to
climb for those on the middle and lower rungs of the ladder, a “national
culture of upscale spending” has emerged.

4. With state pension systems being stretched by the ageing of
Europe’s population and with returns on traditional savings instruments
shrinking, investors are turning increasingly to mutual funds.

5.1In 1980s with their profits falling as viewers turned increasingly to
the choice offered by cable TV and VCRs, the networks (ABC, CBS and
NBC) were taken over by Wall Street deal makers, who thought they
could be run more efficiently.

6. “With many bonds trading above par, any uncertainty about the
implications of the European tax on savings will have an impact on
the trading of these securities”, said Managing director and Head of
European debt capital markets.

7. With the Conservative Party as deeply divided as ever on Europe,
its young leader can stamp his little foot as much as he likes and still not
end the debate.

8. With the tricky enlargement negotiations ahead, the last thing the
EU needs is a prolonged bout of budget bickering.

9. Its economy crumbling, America struggled to escape the global
Depression and find its place in a violently changing world.
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10 Their worst fears about the national election realized, leaders
of the trade union movement now expect an assault against many of
organized labor’s most cherished programs and interests.

11. With sales of automobiles on the domestic market sagging,
and many dealers in deficit, the pressure to export autos last year was
acute.

12. With $40 billion of Brazilian dollar reserves having evaporated
since Russia’s debt default last summer, the move to a floating currency
was increasingly favored by officials at the International Monetary Fund
and the US Treasury.

13. With 70 per cent of Japans land area mountainous and a
small percentage devoted to farmland, two-thirds of Japans urban
population resides and works in less than 5 per cent of the total land
area.

14. With their profits siphoned oft by the central government bonds,
some production units will undoubtedly have to curtail expansion
plans, profit-sharing and other incentives to workers.

15. With old-age pensions starting at 60 for both men and
women, French workers already down tools several years before their
counterparts in other rich countries.

16. Japanese diplomats said their government’s approach is that
the lead in opening up new markets should come from industry and
commerce, with banks following.

17. A second round of wage talks for insurance and metal workers
broke off Wednesday, with employers and unions still far apart on pay
increases.

18. The US’s leading maker of tires for trucks and buses has embraced
globalization, with factories and dealers stretching from Brazil to
Europe to Indonesia.

5. Absolute constructions without the Participle

There are two types of absolute constructions without the Participle.
The second element of the construction is an adjective, a prepositional
phrase, or an adverb.

The Nominative Absolute Construction is used in the function of an
adverbial modifier of time or attendant circumstances. In the function
of an adverbial modifier of time this construction is rendered in Russian
by an adverbial clause.
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The meeting over, we went to our office.
Koeda 3axonuunocy cobparue, Mbl IOLUIN B CBOI OduC.

In the function of an adverbial modifier of attendant circumstances
the Nominative Absolute Construction is rendered by a coordinate
clause, oOeenpuuacmmoiii obopom, or a noun (pronoun) with the
proposition «c».

There she stood, her face to the east.
Ona cTos171a, N0BEPHYBULUCL HA BOCIIOK.

NOTE: There is a difference in meaning: The lesson (concert, lecture)
over... and The lesson (concert, lecture) being over... The lesson over has a
temporal meaning, whereas the lesson being over has as a rule a causal
meaning.

The Prepositional Absolute Construction is mostly used in the function
of an adverbial modifier of attendant circumstances. It is rendered in
Russian by a coordinate clause or geernpu4acTHbIi 060pOT.

With the watch in her hand, she lifted her head and looked
directly at us.

Lepxca 8 pykax uacvl, OHa TIOJHsI/Ia TOTIOBY U TIOCMOTpe/Ia IIPSIMO
Ha Hac.

Task 1. Point out the Absolute Participial Constructions and
translate the sentences into Russian.

1. He reached out across the table, his hand covering Marsha’s.

2. Iris stared out over the landscape, her chin cupped in her hand.

3. She stopped, a red spot on each cheekbone.

4. Old Jolyon stood at the bottom of the bed, his hands folded in
front of him.

5. And, cigar in mouth, old Jolyon said: “Play me some Chopin.”

6. Chance was silent, his eyes intent on Silvertip.

7. They set out with a lantern, Burdick telling his tale.

8. Treleaven stood by the radio panel, his fingers fixed on the clock.

9. He stood, his hands behind him.

10. One night, Winifred having gone to the theatre, he sat down
with a cigar, to think.

11. He looked at her intently, his curiosity reviving.
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12. They were on the porch and Rhett was bowing right and left, his
hat in his hand, his voice cool and soft.

13. Less than half an hour ago, after Dodo’s leave-taking, he had
paced the suite living-room, his thoughts confused and troubled.

14. Archie sat on a stool by the hearth, his back against the
fireplace.

Task 2. Translate the sentences with Absolute Constructions into
English.

1. OH BoIET B KOMHATY C YeMOJJaHOM B PYKe.

2. Ters npogo/mKana cIylUaTh CBOMX Apy3ell C LIMPOKO OTKPBITHI-
MU OT YAUBIEHNS ITTa3aMMU.

3. Oter ¢ Tpy6KOIt BO PTY BCTAsI M3-3a MMCbMEHHOTO CTOJIA U OO~
1Ie7 K KHIDKHOMY IIKady.

4. Korga Mama npepnnoxxmna o6efatb B cafy, BCe ObICTPO BBILIIN
"3 foMa.

5. Korga ctor 6611 HAKPBIT, MaMa I03Bajia TOCTENL.

6. OH Boent 6e3 CTyKa, Tak KaK ABepb ObIa OTKPBITA.

7. OHM 1K OBICTPO, € OIIYIL€HHBIMI T'OJIOBAMM, He ITIAMSA IO CTO-
poHaMm.

8. Manenpkasa AHA IepecTaja UTpaTh Ha posjie U BCTala y OKHa,
[IOBEPHYBUINXCDH CIIHON KO BCEM.

9. JI>KeifH ImIa Ha HeOONBLUIOM PACCTOSHUU OT BCEX C KOXKaHOI
CYMKOI1 B DyKe.

10. ITocrme 06epa HACTYINIIO JOITOE MOTYaHNe: AHHA iyMasia o Jie-
TSX, a IeTU O Hell.

11. OHa CIIOKOJTHO >XKJaIa ipy3eit OKOJIO TeaTpa, CIPsITaB MofE60po-
IOK B MEXOBOJI BOPOTHHK.

Task 3. Analyze the sentences and translate them into Russian.

1. With his impeachment trial over, the US President has found
himself more easily able to involve himself in foreign policy.

2. With the economy booming and incomes finally beginning to climb
for those on the middle and lower rungs of the ladder, a « national
culture of upscale spending)) has emerged.

3. With state pension systems being stretched by the ageing of Europe’s
population and with returns on traditional savings instruments
shrinking, investors are turning increasingly to mutual funds.
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4. In 1980s with their profits falling as viewers turned increasingly to
the choice offered by cable TV and VCRs, the networks (ABC, CBS and
NBC) were taken over by Wall Street deal makers, who thought they
could be run more efficiently.

5. With the Conservative Party as deeply divided as ever on Europe,
its young leader can stamp his little foot as much as he likes and still not
end the debate.

6. With the tricky enlargement negotiations ahead, the last thing the
EU needs is a prolonged bout of budget bickering.

7. Its economy crumbling, America struggled to escape the global
Depression and find its place in a violently changing world.

8. Their worst fears about the national election realized, leaders
of the trade union movement now expect an assault against many of
organized labor’s most cherished programs and interests.

9. With sales of automobiles on the domestic market sagging, and
many dealers in deficit, the pressure to export autos last year was acute.

10. With 70 per cent of Japan’s land area mountainous and a small
percentage devoted to farmland, two-thirds of Japan’s urban population
resides and works in less than 5 per cent of the total land area.

11. With their profits siphoned off by the central government bonds,
some production units will undoubtedly have to curtail expansion
plans, profit-sharing and other incentives to workers.

12. With German industry pressing for lower interest rates to
stimulate investment, the Bundesbank’s capacity to defend the mark by
hiking rates is extremely limited.

13. Japanese diplomats said their governments approach is that
the lead in opening up new markets should come from industry and
commerce, with banks following.

THE GERUND AND GERUNDIAL
CONSTRUCTIONS

1. The forms and functions of the Gerund

The Gerund is a non-finite form of the verb which combines the
properties of the noun and verb.
It has four forms which are homonymous to those of Participle one.

71



Forms Active Voice Passive Voice
Non-Perfect discussing being discussed
Perfect having discussed having been discussed

There is no Gerund in the Russian language and in Russian it is
rendered in different ways:
a) By a noun.

Traveling has become his hobby.

Ilymeuiecmaue CTAIIO €0 yBIeYEeHIEM.
b) By an Infinitive.

It’s no good hiding our heads under the wings.
BecnonesHo npamamy rooBy HOJ, KPBLIO.

¢) By deenpuuacmue.

On seeing us he stopped.
Vsuoes Hac, OH OCTAaHOBUJICH.

d) By a subordinate clause.

He regretted now having come.
Teneps oH coxaren, umo npuuien.

In Modern English the Gerund is widely used and often competes
with the Infinitive.

The Gerund is always used after:

1) the verbs: to remember, to love, to like / dislike, to hate, to mind,
to keep, to continue, to avoid, to enjoy, to deny, to forgive, etc.

2) the verbs used with prepositions: to go on, to put off, to depend
on, to burst out, to insist on, to object to, to rely on, to result in, etc.

3) the predicative phrases with prepositions: to be worth (while), to
be afraid of, to be aware of, to be proud of, to be surprised at, to be fond
of, to be interested in, etc.

4) composite prepositions and word-groups:

Because of / on account of - 13-3a, BBUJY, BCTIEACTBIE

Thanks to / due to / owing to — 6marogaps

Instead of — BMecTO TOTO, YTOODBI

For the purpose of / with the object of / with a view to - ¢ 1enbio,
IUISL TOTO, YTOOBI

In the event of - B crryuae

It is (of) no use / it is useless / it is no good - 6ecronesno
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It is not worth while - He cront

What'’s the good of — Kaxoit cmbicn?

I cannot afford - I ne Mory ce6e no3BonMTH
I cannot help - He mory =e ...

He is proud of winning the first prize.

OH TOpANUTCS TeM, 40 8blUePAs TIEPBBII IPU3.

I can’t afford studying abroad now.

5T He MOTy TO3BO/UTD cebe 00yueHue 3a TpaHNMIIel ceirdac.
His doctor has succeeded in saving his life.

Ero Bpauy yaanoch cnacmu eMy >KU3Hb.

Functions of the Gerund

It performs different functions in the sentence. Its functions are in
most cases similar to those performed by the Infinitive as it combines
the features of noun and verb. The Gerund performs the functions of:

a) Subject
NOTE: In this function the Gerund is translated by noun or
infinitive.

Talking mends no holes.
Paszos0pvi He TOMOT 0T B Oefe.

The Gerund used as a subject may follow the predicate; in this case
the sentence opens with the introductory ‘it’ or with the construction
‘there is’.

There was no mistaking the expression on her face.
BbipakeHne ee nu1a Heb3s ObIIO He NOHAMD.

b) Predicative

NOTE: It is translated by noun or infinitive.

Their favorite occupation has always been reading.
VX mr06MMBIM 3aHATUEM BCeTfa ObIIO utmeHue.
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c) Part of a compound verbal predicate

In this function the Gerund is used after the verbs and verbal phrases
with the meaning of modality, after the verbs denoting the beginning,
the duration and the end of an action.

NOTE: The Gerund in this function is translated into Russian by the
infinitive in the function of object.
He finished painting the portrait of his dear mother.
OH 3aKOHYWII Nucamy OPTPET CBOJL TIOOMMOIT MaTepiL.

d) Object, both direct and prepositional indirect

NOTE: It is translated by a noun, an infinitive or a clause.

Thank you for coming.
Brarogapro Bac 3a T, 4o NPULULIU.

e) Attribute

NOTE: Translation - by a noun or infinitive.

There are different ways of solving this problem.
VImMetoTcs pa3nudHble CIOCOOBI peuieHist ITOI TPOOIEeMBI.

t) Adverbial modifier
NOTE: Translation - by «geenpuyacrue».
One can demonstrate this by making a very simple experiment.

MO>XHO IPOJEMOHCTPUPOBATD ITO, C0e/d6 OYeHb IIPOCTON IKC-
HepVMeHT.

Task 1. Compare the use of the Gerund and the Infinitive in the
sentences. Translate them into Russian.
1. The young man began turning over the pages of a book.

2. Atlength she began to speak softly.
3. She continued standing near the piano.
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4. She continued to look at him.

5. The child was not afraid of remaining alone, but he was afraid to
remain alone on such a stormy night.

6. Don’t forget shutting the windows when you leave home.

7. Don't forget to shut the window when you leave home, it is very
windy today.

8.1 don't like interrupting people.

9.1 dont like to interrupt him, he seems very busy.

10. I remember seeing the book in many bookshops.

11. Remember to buy the book.

12. They stopped talking when he came in.

13. She stopped to exchange a few words with a neighbor.

14. I was always afraid of losing his goodwill.

15. Clare answered rather pettishly, and her mamma was afraid to
say more.

Task 2. Analyze the sentences and translate them into Russian.

1. 'm fed up with living in the city - it’s too dirty and crowded.

2. Speaking a foreign language every day is the best way of learning it.

3. There’s no point in having a car if you never use it.

4. Being admired by all, she felt proud and happy.

5. The boy was ashamed of having been beaten in class by his sister.

6. My answering in the affirmative gave him great satisfaction.

7. He is in the habit of boasting of his cleverness.

8. We are proud of being taught four foreign languages at this
University.

9. After having the same job for ten years, I felt I needed a change.

10. He is an artistic person - he is very good at writing poems and
composing music.

11. I don't want to force you into doing something against your will.

12. I think you should apologize to your mother for being so rude
to her.

13. Do you mind meeting different people every day? Meeting the
same people every day, listening to people for many hours?

14. He had the most irritating habit of joking at the wrong
moment.

15. I hate reminding people of their duties or being reminded of mine.

16. Forgetting may be very rapid when one has no desire to reme-
mber; over learning shows that through extra effort, one can build up
resistance to forgetting.
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17. It’s no use talking like that to me.
18. He did not succeed in taking things easily.

Task 3. Use the required form of the Gerund of the verb in
brackets.

1. She didn’t feel like (to go) unescorted into dinner, which would
begin soon. 2. I inquired of Robinson that afternoon about my book.
He neither admitted nor denied (to take) it. 3. Since Tom was his best
friend he helped him without (to ask). 4. His latest desire was to
discover her age, which he cursed himself for not (to observe) when
he had her passport in his hands. 5. He could not help (to know) that
there were odious people who called him a snob. 6. Daisy and Gatsby
danced. I remember (to be) surprised by his graceful, conservative
fox-trot — I had never seen him dance before. 7. When they had
finished (to write) this letter they read the whole correspondence
from beginning to end. 8. He would never forgive her for (to play) this
game, for over fifty years. 9. He poured milk into a jug from a carton
in the refrigerator, then drank some milk himself before (to put) the
carton back. 10. It's no good (to deny) that. 11. Try and help the nurses
by (to keep) quiet and tidy. 12. From there he had a clear view of the
entrance to the room, with the advantage that he could avoid (to
observe) himself by (to run) quickly out of sight through the stairway
door. 13. The tables were put on one side so that there might be room
for (to dance). 14. I don't like (to spy) on. 15. Annette, who heard
thousands of names mentioned every year, and had a deplorable
memory, could recall (to hear) the name of Fox in connection with
something or other, but could not remember exactly what. 16. The
porter, also on (to enter), would have tapped out his own code. 17. He
suddenly stopped (to read). There was no point in (to go) on. He
looked up and found forty pairs of eyes fixed on him intently. 18. You
must excuse me for (to think) you were a gipsy.

Task 4. State the syntactic function of the Gerund.

1. It’s no use doing things by halves. 2. She kept eyeing Henry with
interest. 3. He didn't feel like talking to anyone now. 4. I could not
help thinking of the island in this anatomical way. 5. After pausing for
breath she announced, “I have some excellent news.” 6. She explained
this to them by saying she was busy. 7. She asked her one or two
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questions. Kitty answered them without knowing what they meant.
8. The land was the one thing in the world worth fighting for. 9. After
a moment, everyone started talking again. 10. Jennie was busy all
next day preparing for a cocktail-party. 11. He supposed it was the
civilized way of doing things. 12. She waited a minute or two before
speaking. 13. Julie expressed horror at the very thought of going out
into the cold. 14. I could not answer for coughing. 15. Housekeeping
with Lydia worked quite well. 16. “A mule would be useful for crossing
the mountain,” I observed.

Task 5. Use the Gerund from the following list as:

a) Subject
continuing, going, riding, keeping, finding

1. Robinson thought at the time that ... a journal would be an
occupation for my mind. 2. My brother always said that ... is the best
exercise. 3. I'm afraid it’s no use ... this discussion. 4. It’s no use ... over
old ground. 5. ... him there surprised me greatly.

b) Direct object
sitting, opening, hearing, being, doing

2. I remember ... her complain to Joe. 2. The box was stoutly made
and resisted ... . 3. I intend ... it tomorrow. 4. Would you mind ... over
here? 5. Now I had resolved, if possible, to avoid ... alone with any of
these men, these strangers.

¢) Prepositional object

shaking, stopping, calling, getting, drinking, missing, dealing, being,
saying, twisting.

1. She was afraid of ... Miller in the crowd. 2. He was fond of ..., “The
superstition of today is the science of yesterday” 3. Thank you for ... .
4. On the way home Sally insisted on ... in front of our college. 5. T am
assure you I am quite capable of ... with the matter. 6. After that, of
course, I had difficulty in ... off Tom Wells. 7. T am sick and tired of ... tea
without milk.
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d) Attribute
eating, coming, reading, going, greeting, discussing

1. The surgery opened at five-thirty, and I made a point of ... along
there quite promptly. 2. The only way of ... to the dance was on our
bicycles. 3. They talked and laughed and shouted, and there was the
clatter of knives and forks, and strange sounds of... . 4. Philip had few
friends. His habit of ... isolated him. 5. He could not bear the thought
of... his situation. 6. There were cries of ... from a dozen voices and they
moved toward her. 7. Philip could never tell lies without embarrassment,
and he was scarlet when he finished his explanation for not... .

e) Adverbial modifier of time
hearing, answering, leaving, passing, looking, reading, racing

1. She looked at the paper, after ... out this question. 2. Before the
little old lady grasped his arm. 3. He spent those nights after ... at his
mother’s house in Green Street. 4. He found an endless excitement in ...
at their faces and ... them speak. 5. Tom considered before... . 6. She
seemed excited on ... this. 7. Poirot had looked up at the staircase in ...,
and shook his head in a dissatisfied manner.

f) Adverbial modifier of manner, attending circumstances or cause

noticing, having, disguising, bringing, answering, working,
coughing, laughing, breaking

1. Cindy glanced up, then away, without.... 2. Liz was able to make her
own living by ... at a factory. 3. Eventually Selwyn couldn’t laugh for and
again, he couldn’t cough for... . 4. Can’t we even laugh properly without
... trouble? 5. Was he trying to escape by ... himself? 6. Major Pennymann
went on without ... her interruption. 7. We might be fined for ... the Press
along, George. 8. You might run all my life by ... your promise.

g) Part of a compound verbal predicate

pacing, shaking, saying, looking, reproducing, eating, chatting,
knitting

1. Teddy Lloyd continued ... Jean Brodie in his paintings. 2. He began
... the words aloud to himself. 3. They went on ... their dinner. 4. The old
man stopped ... her fist and stick. 5. Sandy kept ... ahead; Mary tried to
keep up with her. 6. Anson Harris had ceased ... out and was flying on
instruments alone. 7. Two weeks old this child was, and the lady had
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just finished ... her pram cover in stripes of white and blue. 8. The twins
started ... about their school life.

Task 6. Use the required form of the Gerund and insert
prepositions where necessary.

1. Good-bye, and thank you ever so much ... (to come) with me. 2. She
was afraid ... (to go) on public transport. 3. She began to have frightful pains
all over her, and she held her breath to prevent herself ... (to cry) out and (to
wake) her mother. 4. This was Daphne’s only chance ... (to tell) them of her
college life. 5. She had the local habit... (to place) the word “eh” at the end of
her remarks, questions and answers alike. 6. I was aware ... (to plunge) into
a network of fresh difficulties. 7. His mother would not like the idea ... (to
eat) fruit unwashed. 8. “It seems to me an awfully selfish way ... (to look) at
things,” said Philip. 9. “I don't see the use... (to read) the same thing over
and over again’, said Philip. 10. Sandy could not remember ... (to ask) about
it. 11. I had not asked for advice, I was quite capable ... (to advise) myself.
12. That's no reason ... (to give up). 13. It would be better to wait for him on
the terrace where she was fond ... (to sit) toward evening (to enjoy) the view
of which she was never tired. 14. Dad would not dream ... (to say) such a
thing to anyone. 15. Miss Brodie was greatly taken aback and suffered
greatly from a sense ... (to betray). 16. He was looking forward ... (to take)
the tickets. 17. Are you thinking, Sandy... (to do) a day’s washing? 18. And
then a minute or two afterwards someone else entered the room and
expressed his surprise ... (to find) Griffiths there. 19. She was on the point...
(to obtain) permission to go for walks alone. 20. Jane, your nose wants ... (to
blow). 21. “That child needs ... (to take) care of;” said Eliza. 22. He felt that
life was worth ... (to take) care of. 23. The night seemed very long. He
shivered. He was ashamed ... (to sleep) on the Embankment. 24. They were
busy ... (to find) some food.

Task 7. Translate into English using the Gerund as:

a) Subject

1. M1 3Ha/1, 9TO ¢ HUM 6bUTO Gecrione3Ho cnoputs. 2. Hexoporro
TaK AYMaTbh O CBOMX APY3bsX. 3. BbIIo 6ecronesHo MbITaTbCsA BCTPe-
TUTD ero y [leTpoBbIx. 4. BBITH ¢ Apy3bsAMM Ha 9KCKypcun — 607bIIoe
ymoBonbcTBIeE. 5. JIoBUTD pp16y B UepHOM MOpe — He IIPOCTOe HeIO.
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b) Part of a compound verbal predicate

1. Ona B3s/1a MOIO PYKY U NIPOJO/KA/IA PACCKa3bIBaTh O CBOEM IIy-
TermecTBUM Ha ceep. 2. To, YTO BBI TOBOPWIN, OBIIO TaK MHTEPECHO,
YTO A He MoIJIa He cnymare. 3. Korza A Boluia B 3a71, JUPEKTOP yXe
Hayasl BeICTynaTh. 4. Korna oH KOHYMI rOBOpUTD, TOM OTOABUHYII CTYIT
u BbIIeN. 5. OH MpOJo/DKal YTO-TO YATATh U cMeAThcA. 6. OHa He MOT-
JIa He AyMaTb O pOOUTeNAX. 7. Bbl xpeTe, OKa IPEeKPaTUTCA JOXKAb?
8. Ona npopormkana BA3aTb ¥ CMOTpeThb TeneBusop. 9. Ilomyaca crry-
CTS1 OH OIATDb Havasl 3BOHUTD J[>kony. 10. Korma Bouim popgurenn, oHu
npekpaTwin TaHueBarb. 11. VipyT samarua. IlepectanbTe mrymers!
12. OH paccMesiyics, KOIZia A paccKasal eMy O Hallell OXOTe B Talire.
13. OH no3fopoBascA ¢ Apy3bsAMHU M Hada/l PacCKasbIBaThb O 3aHATUAX
B yHuUBepcuteTe. 14. OH BCTan 1 MefjIeHHO Toulen K ABepu. 15. OHa
IIPOJIOJKAIa CMOTPETh Ha YaChl.

¢) Object

1. 4 o4eHsb ycTanma cuaeTsb foMa. 2. Bel He OyzeTe Bo3pakarb, eC/ 5
sanuury Bamr ajgpec? 3. OH HacTaMBajI Ha TOM, YTOOBI MEHS IIPOBOAVIIN
moMoit. 4. 51 monmyyaro 60/1bIIIOE YIOBOIBCTBYE, KOTIA YATAKO BAIIM CTVXIA
5. 51 mpexpacHO MoTy ynpaB/ATh cBOeil MalmHoit. 6. Criacu6o 3a To, 4T0
BBI [IO3BOHMIN Moelt MaMe. 7. Koryja JI)KOH [TO3BOHMI, MBI ObIIN 3aHATHI
IpUroTOB/IeHNeM K oxoTe. 8. OHa Bos[iep)KuBaach 3BOHUTD eMy. 9. [ Ha-
CTaMBajIa Ha TOM, 4TOOBI ero HaBecTm B 6ompHune. 10. S oTyeTMBO
HIOMHIO, YTO C/IBIIIIA/IA, KaK Yachl Ha KaMMHe pobwm iBa daca. 11. Ox
ObUI O4eHb OTOpYeH, YTO He Hamren ee fjoMa. 12. OH MoCcTOsHHO 6osics,
4TO C HUM OYIyT 06 9TOM roBopuTh. 13. OHa He Mo6WIa, KOIZia ee HecIpa-
BEJUIVBO yIIpeKa/ B yeM-/m160. 14. HeHaByOKy p1essKaThb B ITyCTO OM.
15. A y>xe npuHsIa iBe TabneTKM. S XOpOIIOo OMHIO, YTO 5 MIX IPVHAIA.

d) Attribute

1. Y Hac eCcTb Bce OCHOBaHUA II0/IaTaTh, YTO y Bac ObI/Ia IPUBbIYKA
HaBelaTh UX 10 BedepaM. 2. OH ObUI CYACT/IMB IIPY MBIC/IY O TOM, YTO
CKOPO OIIATh YBUAUT CBOMX fpys3eit. 3. [Tocie 3aBTpaka s1 06bsABUIA O
CBOEM HaMepeHMM HONTu Ha nporynky. 4. EcTb mu kakas-HuOympb Ha-
IeXJa 3acTaTh UX foMa ceityac? 5. Y MeHs He ObIIO BpeMeHU IOAY-
MaTb, KaK OTBETUTb Ha Balll BOIPOC. 6. MHe pelKo IpefCcTaBIAeTCa
CTy4ail IOBUAATD X BCex BMecTe. 7. Kakue y Bac OCHOBaHM pas3roBa-
puUBaTb C HAMM TaKUM TOHOM?
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e) Adverbial modifier

1. IlepenmchpiBas TEKCT, OHA MPOIIYCTH/Ia HEKOTOPbIE ClIoBa. 2. 4 3a-
KOHUIIA, CKa3aB, YTO CKOPO BepHYChb. 3. OH mopyMaJl, Ipex/ie 4eM OT-
BeTUTbh. 4. S cTaja MHOrO mmcarb, 4TOObI YIydmnTh opdorpaduio.
5. IMomy4uB mucbMo oT 6para, OH IOeXal K HeMY IIePBBIM IOE3[JOM.
6. Yuras aTy KHUTY, OH HallleJl MHOTO MHTEPECHBIX BhlpakeHuil. 7. OH
MOJOXKTAJl MTOJIMAHYTHI, IpeXae yeM OoTBeTUThb. 8. ITosaBTpakas, oH
BEPHY/ICA B CBOIO KOMHATy. 9. BhIlifiA M3 JOMa, OH BCTPETUT CBOETO
HIKO/IbHOTO ToBapumia. 10. f ycrama oT TOro, 4T0 MHOTO 9MTasa, I pe-
myIa IOCUETh B Kpecre B cafy. 11. ITocne gByXx4acoBOro 4reHusA oH
IIOJIOKIJT YeMOMIaH Ha KOJIEHM U Havajl YTO-TO IcaTh. 12. YCIIbIIaB o
npuespe Enensl, 4 pemmnia ee HABECTUTb.

2. The Complex Gerundial Construction

It is a predicative construction in which the Gerund is in predicate
relation to the nominal element expressed by a noun in the possessive
or common case or a possessive pronoun. This construction is usually
translated by a clause the type of which depends on the function of the
Gerund in the sentence. The clauses are introduced by the conjunctions
Mo 41Mo, mem 4mo, nocse mozo Kax.

My friends having a good knowledge of English is the result of his
hard work on the language (subject).

To, umo moti Opye 0b6nadaem XOpOULUM 3HAHUEM AHSTUTICKOZO,
SABJIACTCS Pe3y/IbTATOM €TO YIIOPHOI PabOTHI HaJl I3BIKOM.
After their repairing the motor, we set off (adverbial modifier).
Iocne mozo Kax oMU NOYUHUILL MOTHOP, MBI OTIIPABUIUCE.

She knows of my living in town, but she does not know of my
having lived in the countryside (object).

OHa 3HaeT, 4mo 5 #usy 6 20pode, HO OHA HE 3HACT, 4MO A HUNA
8 CenbCKOU MECHOCU.

We understood the importance of this problem being solved
practically (attribute).

MbI IOHSA/MM BaKHOCTD TOTO, 4Mo0bl 3ma npobnema 6vina peude-
Ha npaxmuecku.

NOTE:
a) The nominal part of the construction can be expressed by a noun
in the common case. Compare:
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My uncle’s visiting us is a surprise.
My uncle visiting us is a surprise.

These two constructions may be used indifferently. But there is a
slight difference in meaning. In the first sentence the action is
emphasized, in the second sentence the focus is on the doer of the
action.

b) The nominal part of the Complex Gerundial Construction can
also be expressed by the pronouns all, this, that, both, each, something
which have no case distinction.

Task 1. State thesyntacticfunctions ofthe Gerundial Construction.
Translate the sentences into Russian.

1. She was very much surprised at his being so worried about the
incident. 2. She can’t bear thinking of it or speaking of it. And your
saying that reminded her. 3. But of course someone might have gone
to the table without your noticing? 4. It was no good your doing things
by halves. 5. We are concerned about the company’s trading in raw
materials. 6. He complained, “I don't like the idea of you all going off
from early morning till late at night. I don’t like being alone, quite
frankly” 7. She changed the style of her dancing, her feet moved more
quickly, and did not keep so strictly to the ground. 8. I can’t bear the
thought of your deserting your post when your presence is so necessary.
9. Tom’s mother spoke with pride of her son being a sailor. 10. Did you
ever hear of a man of sense rejecting an offer? 11. I can’t imagine your
mother approving of what you are doing.

Task 2. Analyze the sentences with the Complex Gerundial
Construction and translate them into Russian.

1. Despite much angry and sometimes ignorant talk about Japanese
burying their guilty secrets, there is a great deal of Japanese literature
that deals honestly with the war.

2. The scandal has resulted in the local station chief of America’s
CIA giving warning that America might stop sharing intelligence with
South Korea.
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3. The U.S. State Department faulted the Muslim fundamentalist
faction known as the Taliban for publicly beating women for not being
accompanied by a close male relative.

4. Nominal sovereignty is no longer the valuable commodity it once
was, and independence may actually lead to people having less control
over decisions that crucially affect them.

5. Foreign exchange analysts, despite all the fanfare and pep talk
about the United States reasserting its leading role as a bastion of free
enterprise, remain extremely skeptical that the dollar’s strength can be
sustained without the support of high interest rates.

6. With consumer prices in the euro area only 1 % higher than they
were a year ago, there is little risk of currency depreciation causing a
dangerous surge in inflation.

7. The next bad step will be to say that the WTO’s test is wrong:
instead of the importer having to prove that a product is dangerous, let
the exporter show that it is safe.

8. The continued success of voluntary mass vaccination depends
on governments providing accurate information about the risks and
benefits.

9. The Europeans suspect the Americans of cheating on the deal
by funneling indirect subsidies to Boeing, in contravention of the
agreement to limit subsidies to 30% of a project’s cost.

10. The supremacy of EU law over national law is also implicit in
the treaties. Nor could the court’s powers be repatriated by Britain or
anyone else, without a country leaving the Union altogether.

11. The unions sought discussions with the company on supervisory
grade matters, about which no understanding agreement existed with
the unions, and insisted on shop-floor employees being present during
these discussions.

12. Those trade unionists who believed the propaganda about
the freeze benefiting the lower-paid workers got a shock just before
Christmas, when agreements affecting farm workers and shop assistants
were referred to the Prices and Incomes Board.

13. France is the largest contributor to the offensive after the US and
is fully committed to success. Yet at the same time politicians on both the
left and right are profoundly wary of France being so closely involved in a
military venture that is US dominated and orchestrated through NATO.

14. But if this experiment fails then it is obvious that, far from there
being an improvement in the standards of life of the British people,
there will be a steady diminution.
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15. Jobs and living standards depend on the industrial capacity of
the nation being used to the full.

Task 3. Translate the sentences into English using the Gerundial
Construction.

1. EMy He HpaBmIach MOs ujes ofHoIl exath Ha KaBkas. 2. IIpen-
CTaBb cebe, eil XOTeNOoCh 3HaTh, 4TO ero Oecriokont. 3. OH HacTanMBaeT,
4TOOBI 51 [lepKaia OKHa OTKPBITHIMI HE3aBMCUMO OT TIOTOABL. 4. BbI He
BO3paXkaeTe, eC/Ii s MOpaboTaro CerofHs B BalleM KabuHere? 5. 5 yaus-
JIeHa, YTO BbI OCTaBWIM MaJIeHbKOTO Ma/buMKa OJHOTO jJoMa. 6. Bl
IIOMHUTE, 51 BAM TOBOPIJIA, YTO MOV MYy MH>KeHep. 7. 51 He Mory cebe
IPEJICTaBAUTh, YTOOBI BBI TAK [JO/ITO CUIE/N B YnTaIbHOM 3arte. 8. Kasa-
JI0Ch, YTO MHe He ObII0 607IbIle HY>KAbI OcTaBaThcsl B Mockse. 9. VIH-
TepeCcHO, KaK OHa BOIIIJIa B JOM TaK, YTO MbI He BUJIETIU ee€.

NOTE:

The Russian He + geenpuyactue may correspondent to the English
without + Gerund or not + Participle. It usually corresponds to not +
Participle if it is used in the function of the adverbial modifier of cause.

He 31as cn06, OHM He MOTJIV TIOHATD COfiep>KaHue OTPbIBKA.
Not knowing the words, they couldn’t understand the fragment.

If He + meenpuyactue is used in the function of adverbial modifier
of attendant circumstances or condition, it generally corresponds to
without + Gerund.

IleTy He MOITIN YIITI U3 IOMA, He CPOCUB PaA3PeUeHUs.
The children couldn’t leave home without asking for permission.

Task 1. Translate the sentences into English using not + Participle
or without + Gerund.

1. Cmorpurens (posmaster), He oTBevasi, Bouren B 3any (Ilymxun).
2. He mony4as orBera, [IyHs NOAHATA TONOBY... ¥ C KPUKOM yIIaja Ha
koBep (ITymkmuH). 3. Malua 10 Iie/IbIM JHAM, He ocymas a3 (to dry
one’s eyes), wrakana... (JI. Toncroit). 4. He 3akoHUuB cBOeil peun, OH
nobexasn 3a yxopusurero (retreating) mesyukoit (Typrenes). 5. He snas
napor (password), 1 xoTen Momda mpoexarb MuMo Hux (Ilymkun). 6. He
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umes: npuBbluku (to be in the habit) xokeTHuUYaTp ¢ MpoOXOKUMU
oduuepamn, oHa [/Insa] mepecrana IIAgeTh Ha YINIY U MINIA OKOJIO
IBYX 4acoB, He mpunopuHumas ronosbl (IIymkun). 7. Ho Bacmmmit
ViBaHOBMY, He 000pauMBasCh, TOMBKO PYKOIl MaxHYI M BBIIIEN
(Typrenes). 8. Ho o6oitast kpyrom (to make the round of) many6y u xe
Hangsa Jlamm, VBan Vibuy B3BOTHOBAJICH, CTal 3amIAgbIBaTh (to
search) noscrony. Jaum Hurpe He 66110 (A. Toncroit). 9. bepr erue uTo-
TO ToBOpMWI, HO PocTOB, He focmymas ero (to hear somebody to the
end), y>xe moexan ganbie (JI. Torcrorr). 10. Cons, Harama cnamu He
paspeBasich, B suBaHHOM (JI. Toncroit). 11. Hatamra mogonuia Kk HeMy n
cripocuna, 4to ¢ HuM. OH [KHs13b AHJpeit] He OTBETIII €11 1, He TOHMMAst
ee, IOCMOTpET Ha Hee cTpaHHBIM B3rsoM (JI. Tormcroit). 12. Anmexceit
AnexcaHIpOBIY B3[JOXHYII 11, He CKa3aB OOJIblIle HUYETO, OTIIPABUIICS
B cranbHIO (JI.Tomcroit). 13. OH OIIAHYICA CBOMMU COLYPEHHBIMU
(half-shut) rasamu u, B3I/IsIHYB Ha KHsA35 AHJpesi, BULUMO He y3HaB
ero, 3amaras K kpeutbny (the steps) (JI. Tomcroi).

Task 2. Translate the sentences paying attention to the Gerund in
different functions.

1. England was the most successful of the European nations at
colonizing what would become the United States.

2. By contrast, economic growth can contribute to pollution and
exacerbate the difficult problem of maintaining a clean and healthy
environment.

3. As a result of the slowing economy and other factors the federal
budget deficit began heading upward again.

4. Self-employed businesses are famous for being able to respond
almost instantly to changes in demand.

5. One of the advantages of sole proprietorship is that an owner
can make decisions quickly and decisively without having to consult
others.

6. Like printing paper money, issuing too much stock diminishes
the basic value of each share.

7. Legally, the owners of this stock stand next in line to the
bondholders in getting paid.

8. Even if the rate has gone down, the lender benefits by having
increased the size of its original loan at a lower rate of interest.

9. Most experts now diminish the idea of rapidly eroding U.S.
industrial base.
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10. Buying stock on margin gives speculators the opportunity to
extend the scope of their operations.

11. Speculating in commodities is done primarily at a commodity
exchange, and there are a dozen such exchanges in the U.S.

12. Japan and other part of the world feel that their best opportunity
for searching their wealth is to invest in American stocks.

13. Their buying or selling can indicate to other investors their
degree of confidence in the future of the company.

14. Repeated devaluation can only result in other countries
completely losing confidence in a currency.

15. There were deficits in 1930s, without bringing about a real
recovery.

Task 3. Translate the sentences into Russian. Note the difference
in the translation of the Gerund and the Participle.

1. Yet conservative people in rural areas were tremendously
enthusiastic about buying shares of railroad stock, often mortgaging
their farms or businesses to do so.

2. Beginning in 1825 various state government began to play an
active role in stimulating the construction of an internal system of
transportation;

3. A certified public accounting firm, after performing an audit
certifies that the figures and statements about the finances reflect
generally accepted accounting principles.

4. Many persons who do not feel qualified to decide which stocks in
purchase, but who nevertheless want to participate in the stock market
in hope of making a profit by doing so, turn to mutual funds.

5. A mutual fund combining funds of its shareholders, which may
be in small amounts, invests large blocks of money.

6. Their available cash will buy many more shares, giving them the
opportunity of making more profit and also the risk of suffering greater
losses.

7. The laws have some success in preventing fraud and secret dealings
aimed at manipulating stock prices.

8. Congress has charged the SEC with seeing that American
corporations abide by American business ethics even when doing
business in another country.

9. In its history the SEC has taken on the responsibility of overseeing
corporate policies, particularly by requiring reports designed to uncover
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illegal company payments to political figures or others for the purpose
of buying their influence.

10. Money saved by individuals is usually deposited for safekeeping
in interest-bearing accounts in one of four types of private institutions:
commercial banks, savings banks, savings and loan associations and
group credit unions.

11. The money for insurance company lending comes from the
annual premiums paid by individuals and businesses for insurance
policies.

12. Most of the money deposited in these individual savings
accounts is used by the institution to finance the purchase, building or
remodeling of private homes.

13. By the 1990s, advances made in such fields as chemistry,
electronics and biotechnology were producing goods and services
ranging from semiconductor circuit to laser surgery.

14. The typical corporation likes to keep a balance among these
methods of raising money for expansion frequently plowing back about
half of the earnings into the business and paying out the other half as
dividends.

15. When acting in concert, individual and institutional stockholders
can have tremendous power over corporate management by selling or
buying their shares to drive the price of the stock down or up.

NOTE: After a number of verbs and verb-groups both the Gerund
and the Infinitive may be used: to try, to regret, to hate, to intend, to begin,
to continue, to like (to dislike), to propose, to remember, to forget, to stop,
to mean, to be afraid of. The Gerund renders some general statement
while the Infinitive is mostly used with reference to a special occasion.

I meant fo call you when at home.

51 HamepeBajicst no3eoHumo tebe, korga 6ymy foma.

Getting this job would mean getting up early.

Ecnu cornmacutbcst Ha 3Ty paboTy, IPUAETCS 6¢MaABamv paHo.

Task 4. Use the appropriate form of the Gerund or the Infinitive
of the verb in brackets.

1. Over coffee, he began (to calm) down a little: he made himself
useful by (to hand) round the coftee cups. 2. I wouldn’t like you to think
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that I am in the habit of (to make) a nuisance of myself. 3. She went
on (to read) about how (to stick) plastic flowers on her blouse. 4. The
master seized the arms of his chair and grasped them as though (to
prevent) himself from (to fall) upon Philip. 5. I remember (to see)
her (to come) on board only a few minutes before the boat sailed.
6. John had introduced himself to Philip before (to come) in to see
Kitty. 7. He seemed (to have) some difficulty in (to start). 8. She
tried (to stop) (to go out) (to see) people. 9. And with an immense
effort of the will, he managed (to stand) there, without (to go) down
(to open) the door. 10. Can you (to ask) me after (to hear) me (to
play)? 11. Thank you for (to let) me (to talk) to you. 12. Ralph began
(to disappear) for days and weeks without (to warn). 13. Without (to
speak) they went along, and there was no one (to see) either in front
or behind them. 14. After that they decided (to go) where there was
no chance at all of their (to see). 15. He took a silk scarf from his
neck and gave it over to me (to use) for a handkerchief, since my
own was wet with my (to cry). 16. Once more, Simon started (to
piece) the toy together, with the old tune inside it, while Jennie and
I went (to make) some tea. 17. When she woke, she rubbed her eyes
(to gather) her senses together and gradually she remembered (to
go) to the theatre on the previous evening. 18.1 taught in a private
school in Kensington, for almost three months, very small children.
I didn’t know what (to do) with them but I was kept fairly busy (to
escort) little boys to the hall and (to tell) the little girls (to use) their
handkerchiefs.

NOTE: The form in “-ing’ may be a participle or a gerund or an
adjective or a verbal noun. It is essential to remember some peculiar
features:

a) Both the Gerund and the Participle may perform the functions
of attribute and adverbial modifier. But the Participle is never
preceded by the prepositions, only by the conjunctions ‘when’ and
‘while’ The Gerund or gerundial constructions always follow some
preposition.

b) An attribute is used in pre-position to the noun it modifies, while
the Participle occupies the post-position.

¢) A verbal noun unlike the Gerund can be modified by an article or
adjective, and it can be used in the plural form.
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Task 1. Analyze the ing-forms stating whether they are gerunds
or verbal nouns.

1. T hate the idea of your wasting time. 2. I was afraid of being called
upon to give evidence against her. 3. The twins devotedly gave up their
day to the cutting of sandwiches. 4. She was put out by being kept
waiting. 5. I sat in the sun, extremely tired in my bones after the crossing
of the mountain on the previous day. 6. She was angry at being put
beside Tom. 7. He was engaged in overwhelming Helen with reproaches
for not having told him of Jack’s change of sleeping quarters. 8. It was
hot walking through the town but the sun was starting to go down and
it was very pleasant. 9. Godfrey felt guilty at having gossiped to Olive
about Lettie’s changes in her will. 10. It was good walking on the road.
But it was lovely walking in the woods. 11. Poirot lost no time in
visiting M. Halted. 12. He crossed back into the doorway, and, slowly,
to keep down the beating of his heart, mounted the single flight of stairs
and rang the bell. 13. There was a tramping of feet. 14. No one ever
thought of protecting Isabel. 15. He walked to the edge of the terrace,
and looked down into the darkness; he could just see the powdering of
the daisies on the unmown lawn. 16. Raising good cotton, riding well,
dancing lightly were the things that mattered. 17. It was a habit with
him to tell her the doings of his day. 18. He liked dancing quickly.
19. Lewis had offices in Zurich and London, and his comings and
goings were casual. 20. “I'm not very clever at guessing people’s ages,”
she said coldly.

Task 2. Analyze the sentences and translate them into Russian.

1. “You have a steel industry hemorrhaging with the flooding of our
markets with foreign dumped steel, causing losses of thousands of jobs,
and the administration is applying a small band-aid to that massive he-
morrhage”, said Senator A. Specter, Republican of Pennsylvania.

2. Among the radical measures are proposals to give the public the
right of veto over a new King or Queen, the scraping of the monarch’s
political powers and the ending of the role of the Sovereign as Supreme
Governor of the Church of England.

3. They passed a resolution calling for a world trade conference.

4. With fiscal policy stretched to its limits, Japan’s central bank has
moved to the centre of a heated debate over whether it should adopt an
easing of credit.
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5. By dropping its annual sponsorship of a resolution condemning
China at the UN Human Rights Commission, now meeting in Geneva,
the US administration acknowledges what has long been obvious.

6. Rather than come up with cash and watch expensive hardware
depreciate, companies increasingly are turning to leasing and
outsourcing as alternatives to buying.

7. Crowds gathered at two US Churches where the civil-rights leader
Rev. Martin Luther King Jr. once preached, marking the US holiday
bearing his name.

8. The Angola government has insisted on the withdrawal of the
latest UN mission, accusing the UN troops of failing to disarm the
rebels.

9. For high-tech multinationals like H.P, financing has become an
important way to keep Asian sales kicking, as well as a lucrative business
believed to total roughly $20 billion a year. It is also becoming a new
form of muscle in Asia’s tougher market-place.

10. “Not that we in America do everything right or that we provide
a precise model for the working of a somewhat similar economy, but
some long-standing American economic interactions do resemble
those developing on the old Continent,” said a US economics expert.

11. In the EU, a spirit of collective irresponsibility takes hold: rather
than reforming, or even seriously thinking about the underlying
policies, each country simply seeks to get as much as it can from the
trough.

12. Amendments by the European Parliaments Legal Affairs
Committee to a draft copyright protection directive would bar all
private copying and “make illegal such harmless practices as the home
taping on video of free TV programs for later viewing”
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TEST

Choose the proper form of the verbal

1. He was beyond about what was going to happen to him.
a) to care ¢) having cared
b) caring d) to be caring

2. She woke at half past ten in the morning to find her husband ___.

a) going c) gone

b) to go d) having gone
3. There were several ships ___in the harbor.
a) anchored ¢) to anchor

b) being anchored d) anchoring

4. The snow never stopped falling that afternoon. It was dreadful ____
outdoors.

a) being ¢) having been

b) to be d) having been

5. The buildings were kept __ and in repair by a group of
workmen.

a) to paint c) painted

b) being painted d) having painted

6. She opened the door to see Tom ___ round the corner.

a) to disappear c) being disappeared

b) disappear d) to have disappeared

7.1 couldn’t resist showing my money or ____ it with my friends.
a) to spend c) spending

b) to have spent d) having spent
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on

8. He took the first opportunity ___ for his rudeness.

a) to apologize ¢) having apologized
b) apologizing d) to have apologized
9. It might be worth .

a) trying c) being tried

b) to try d) to have been tried

10. At the top of the third flight she paused for breath, and holding
to the banisters, stood .

a) to listen c) listening
b) being listened d) to being listened

11. The thought came ____ into his mind.

a) to flash ¢) flash

b) flashing d) being flashed

12. Tom glanced away from his mother so as not ___ the tears in
her eyes.

a) to see C) see

b) seeing d) being seen

13. I did not expect the issue ____the tragic form it did.

a) taking ¢) to take
b) being taken d) take

14 In fact I found myself ___ that I would have to do something

about it immediately.
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a) to think ¢) thinking

b) being thought d) think

15. He gulped a cup of coffee in the hope ___ his stomach.
a) to pacify c) of pacifying

b) pacifying d) having pacified

Supply the appropriate preposition for the ing — forms

16. She had great difficulty ___ not showing her feeling.
a) for b) in ¢) about d) by

17. There isn't much sense ____ my going through all the reasons why

a young man of twenty-two, without any money, should not marry.

a)in b) of ¢) on d) about

18. Blair raised no objection ___ going back to London.

a) for b) in ¢) about d) to

19. There could be no doubt ___ there being something on between
her and Hugh.

a) of b) about ¢) in d) for

20. I repeat, that was one of my reasons ____ giving you this news
today.

a) by b) in c) for d) of

21. She had a pleasant gift ___ keeping the conversation general.

a) for b) of ¢) in d) by

22.1am a great believer ___ being prepared.

a) of b) in c) for d) about

23.Irushed out to prevent her ___ seeing this dreadful sight.

a) by b) in ¢) from d) to

24. You did not approve ____ my playing cards.

a) of b) for ¢) in d) about
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